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Economic growth in country X will necessarily have to occur if
1) there is technical progress in the world economy

2) there is population growth in X

3) there is capital formation in X

4) the volume of trade grows in the world economy

I T PR AT 3RITe!, Higadl FMiHce ST ey a1 8 2rbd el
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3) U AP gl 8) J= Higad -G OIRR

Despite being a high saving economy, capital formation may not result in significant increase in
output due to

1) Weak administrative machinery 2) llliteracy

3) High population density 4) High capital-output ratio
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Economic growth is usually coupled with ............

1) Deflation 2) Inflation 3) Stagflation 4) Hyperinflation
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A “closed economy” is an economy in which

1) the money supply is fully controlled 2) deficit financing takes place

3) only exports take place 4) neither exports nor imports take place
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A decrease in tax to GDPratio of a country indicates which of the following?

a) Slowing economic growth rate b) Less equitable distribution of national income
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
SR TGN SRIFTET ........., R T G T d aRKIep &X8ls GNP 7e slelel! a1e &,
3M1Rfep faeprarel S Urcfes! geffad el
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Increase in absolute and per capita real GNP do not connote a higher level of economic
development, if .........

1) Industrial output fails to keep pace with agricultural output.

2) Agricultural output fails to keep pace with industrial output.

3) Poverty and unemployment increase.

4) Imports grow faster than exports.

Q) WHSicht, THSisht

@grefler fau™ o &

31) AT 3ffth M AT SIATfe 1 S 9]0 TEY emsad fawry Ifey ufkediar wxrfad dett
&oik

¥) 9mead faprT Sfe® AR AT RO NTFID 3R

RSB v e sRIsR 312 /31 ?
9) (31) Heh ) (F) wch
3) (31) iy (9) el 8) (1) fobar (3) SErEr At

Consider the following statements :

a) The Sustainable Development Goals were first proposed in 1972 by a global think tank called
the ‘Club of Rome’.

b) The Sustainable Development Goals have to be achieved by

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

1 g (PAGE) ATt gt IrfiqRt, Seri=m gRa Sfir aifties aemaerds sreferaeians Sivamme
TS IRUIRY Y 1Y T, I ISIRT 3Tet,
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The Partnership for Action on Green Economy (PAGE), a UN mechanism to assist countries
transition towards greener and more inclusive economies, emerged at

1) The Earth Summit on Sustainable Development 2002, Johannesburg

2) The United Nations Conference on Sustainable Development 2012, Rio de Janeiro

3) The United Nations Framework Convention on Climate Change 2015, Paris

4) The World Sustainable Development Summit 2016, New Delhi
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Which one of the following is a purpose of ‘UDAY’, a scheme of the Government?

1) Providing technical and financial assistance to start-up entrepreneurs in the field of renewable
sources of energy

2) Providing electricity to every household in the country by 2018

3) Replacing the coal-based power plants with natural gas, nuclear, solar, wind and tidal power
plants over a period of time

4) Providing for financial turnaround and revival of power distribution companies

s AT dos! oftefdeh! DIUIT UTghel Sclel STV el 3RId ?
9) oY dEIE PR RHET HUId. ?) AP Uheuiasiel @aid d1e.
3) NI PUNINE IR &I dTe. Q). AT ThcdiaNial Taid .

Which among the following steps is most likely to be taken at the time of an economic recession?
1) Cut in tax rates accompanied by increase in interest rate.

2) Increase in expenditure on public projects.

3) Increase in tax rates accompanied by reduction of interest rate.

4) Reduction of expenditure on public projects.

‘AT BRI wefaferdt Rad’ ... T I TIR pedT 3

q) RIIT FA b Q) STCRRIER AToifeft

3) TR ST faemRINATe! SIARIERT b Q) i TRt Mo fassrarardt Faer
‘Global Financial Stability Report’ is prepared by the

1) European Central Bank

2) International Monetary Fund

3) International Bank for Reconstruction and Development

4) Organization for Economic Cooperation and Development
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Which of the following statements is/are correct regarding National Innovation Foundation-India

(NIF)?

a) NIF is an autonomous body of the Department of Science and Technology under the Central
Government

b) NIF is an initiative to strengthen the highly advanced scientific research in India’s premier
scientific institutions in collaboration with highly advanced foreign scientific institutions.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) RIS - AT 3nfor YeaErfe Jismn

TR TRBRA At ST TG deft 3T

9) AFGIRIGR MM Q) ot SN 3) PRIGT RN ) RIS 3T
The Government of India has established NITI Aayog to replace the

1) Human Rights Commission 2) Finance Commission

3) Law Commission 4) Planning Commission
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Who among the following constitute the National Development Council?

a) The Prime Minister b) The Chairman, Finance Commission

¢) Ministers of the Union Cabinet d) Chief Ministers of the States

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (¢), (d)
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31) ST U=EIties AR Jerd ST Wisdel! diTeal IR TRRIoede MR SR Suamd
3T

) dfear vEEINe dioma Fud T oniies erchiean aéia epmcd! gdidl UaR GURTR 3IfkE
BRI e,

%) IR TgaTie AloHd GUTd SR ST AT SAHST AT U HHIGE BRUAT ST,

gTeflel Pl Ie AT IR FgsT.

q) () ST () W R) (3N), () M7 (F)  3) (I) B 8) (ar) amfor, ()

With reference to India’s Five-Year Plans, which of the following statements is/are correct?

a) From the Second Five-Year Plan, there was a determined thrust towards substitution of basic
and capital good industries.

HERTY ST AR HaT gEuier arslt - e onfor amfores fAer/ ag
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4)

)

1)

?)

b) The Fourth Five-Year Plan adopted the objective of correcting the earlier trend of increased
concentration of wealth and economic power.

c¢) In the Fifth Five-Year Plan, for the first time, the financial sector was included as an integral
part of the Plan.

Select the correct answer using the code given below.
1) (b) and (c) only 2) (a), (b) and (¢) 3) (b) only 4) (a) and (c)

9 T AN IioFd G I ... 3.

9) FAHTCING dqTe IO TR ot o,

Q) HRTHTIID M1 QMead dTe.

3) RO FH TROIRATST amead 3T FHTRS dare.

¥) STetg, Qmead 3T 31 AHhed dTe.

The main objective of the 12th Five-Year Planis ...........

1) inclusive growth and poverty reduction.

2) inclusive and sustainable growth.

3) sustainable and inclusive growth to reduce unemployment.
4) faster, sustainable and more inclusive growth.

(3)3nfe FURUT, I IT=

YR e, MR Seas
HRATIE AT GEROM
WISTIHRUT, SSRIHRUI T STRTTCIehIhROT

q) YRAT sreferaRer, IR Iu=

e wremadiRadt <o T S .. 3P IR
q) ISR IATIT IR S Heliel THUT . R) Ul IUHRT ST e @t st
3) d IRhie dafthds IT=IRIT skisT g) IaTfed Sif I M7 Fard I Je

The national income of a country for a given period is equal to the ............
1) total value of goods and services produced by the national.

2) sum of total consumption and investment expenditure

3) sum of personal income of all individuals

4) money value of final goods and services produced

Tl faum foaRm &1

37) TRARHT drar GRS (PPP) fafma SR amraTeart eriweliet A ave ST Harearm fpmeiet g aved
qiSTel ST,

¥) PPP SeRi=T diddid, YRA 8 SWTdiel Agldl daid A1dt 3refaiawer 3.

RIDT PIvT I RIS 3R/ 38 ?
9) (37) Heh R) () Bh
3) Al (1) 3 (@) ¥) aglal (31) fbar (@) A
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3)

4)

4)

5)

Consider the following statements

a) Purchasing Power Parity (PPP) exchange rates are calculated by comparing the prices of the
same basket of goods and services in different countries.

b) In terms of PPP dollars, India is the sixth largest economy in the world.

Which of the statements given above is / are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

CISICRCRIERCEING R

31) T GBI WRATAT GDP =1 ThaRid R Heeld AT ale Hilell 3Te.

9) YRarAT GDP =7 TehaRied] wurd il g edT Seeprd A dTeéet 3.
R DIV fTUM TR 318 /3 ?

9) (31) Heh R) (¥) wch

3) (3n) nfor () <r= 8) (1) febar (%) SI=iet el
Consider the following statements :

a) Tax revenue as a percent of GDP of India has steadily increased in the last decade.
b) Fiscal deficit as a percent of GDP of India has steadily increased in the last decade.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

IR sreferawerer Tefd, @refietd drd fium R /3med 2

31) ST e &R e ura aufd ATa™ arcell 3.

9) T U gufd SRels ST aicial a) AT digell 37Te.

gt SR :

9) (31) Teh (@ ®D 3) (@) el (@) 8) (3) fbar (3) et T
In the context of Indian economy, which of the following statements is/are correct?

a) The growth rate of GDP has steadily increased in the last five years.

b) The growth rate in per capita income has steadily increased in the last five years.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR SR i, @reflel faum faaRrd &

31) IR Febel QM IUTCHTAT Il <X AT PIE Plodld HIAT™ drgel 37

) INRIETIIR (FUIHE) Fehel QIIaiid ScdIed Ied] GhId AT deal 31g

RieTdeh! DIV UM TR 318 /38 ?

q) (31) Fh ?) (@) ®h

3) (an) afor () <= 8) (1) fobar (%) It el

With reference to India economy, consider the following statements:

a) The rate of growth of real Gross Domestic Product has steadily increased in the last

b) The Gross Domestic Product at market prices (in rupees) has steadily increased in the last
decade

Which of the statement given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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1)

Q)

2)

3)

3)

R) URdIitel AT oo

IS ST dTeiet] T STITATST WRT IRPRA 3fcfihelel ERUMcHD SUhH DI / 37T ?
37) IMERT TAURD AT IedTeA ST FATIT

9) ‘R fdel feaerR=g’ a1 a1y TS o,

&) T UG AT fdepra, el wumomT

Tt S :

9) (@) ST () B ) (31), () MU (F) 3) () Th 8) (37) 3o ()
What is/are the recent policy initiative (s) of Government of India to promote the growth of
manufacturing sector?

a) Setting up of National Investment and Manufacturing Zones

b) Providing the benefit of ‘single window clearance’.

c) Establishing the Technology Acquisition and Development, Fund

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

Wefieddh! Pivrg e 3nfiies MicareT/SaorT @ IRIRT aui &xd ?

q) TG 3MRIP AIEHS deeicd] Fes AN G PRUIRAIS! IRyl YRad] FAB3Ed PRUIRICH
STCH &1 ARBRA otel! & AIS! TTaus o1

Q) errchier e fEhaTehemdi=T ATeFT TR SRPIRAT & T APRIHD Il 3T

3) SURT ST 3 AT TS M7 ST WIS IRGUIATS! ool 3MfoT Heifra

g) anffer FHTAeM YRUTAT Jideid TRUMNG &l Id bl ABRIHD ARBRI Gl 3R

Which one of the following statements appropriately describes the “fiscal stimulus”?

1) It is a massive investment by the Government in manufacturing sector to ensure the supply of
goods to meet the demand surge caused by rapid economic growth

2) Itis an intense affirmative action of the Government to boost economic activity in the country

3) It is Government’s intensive action on financial institutions to ensure disbursement of loans
to agriculture and -allied sectors to promote greater food production and contain food inflation

4) It1s an extreme affirmative action by the Government to pursue its policy of financial inclusion

TRERAT AEHE Favl IR JISHT AT ‘Meg S ASHT T el /Sl B 37Ted /MM 2

37) IR Pedics Ugd 3Rfelel MISHT Al Hfa=d A0

) A 3T I &1 FDI o Hieares <o

P) AT RTINS YRAR 3fdcifdcd BhH! PRUAS Wleiiel Pl dTiReT AT IR Haer.

Tt S :

q) (31) 3T (3) B Q) (1) AT () 3) () snfor () 8) (31), (3) 3mfor ()

What is/are the purpose/purposes of Government’s ‘Sovereign Gold Bond Scheme’ and ‘Gold

Monetization Scheme’?

a) To bring the idle gold lying with Indian households into the economy

b) To promote FDI in the gold and jewellery sector

¢) Toreduce India’s dependence on gold imports Select the correct answer using the code given
below.
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1)

Q)

2)

3)

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

3) WISRIRYT, SGRIDRUT G STRTfIhIRRYT

9%%9 HY Mffeh ERUNAT ISRIPRUMFR HRATT Wletleldeh! Iurd! TeT el /3 ?

37) Siigdmed ocdar drer vas drcetT. ¥) SIAIfep SATIRIT YR Rt arer aree.
P) THSIIRTT 3N el T) TRATAT Wb T A3 TS a1 et
gt SR :

q) (31) Sfor (3) wh - 2) (31), (3) M (8) 3) (3N), (B) M (3) 8) (), (@), (F), (3)
Which of the following has/have occurred in India after its liberalization of economic policies in
19917

a) Share of agriculture in GDP increased enormously.

b) Share of India’s exports in world trade increased.

c) FDI inflows increased.

d) India’s foreign exchange reserves increased enormously.

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (b), (c) and (d) 4) (), (b), (¢), (d)

99%9 =T 3ATffes IERISRUMHIRAT HRAR ffeaedrar Aewid, Wefal faum R &

37) T BHEATR IATSHAT 008 — oYy fhrat) It YN araett aR IrEior vrma ot ot sef.

) AT HATTle] SRR CehdRId e aTe gl 3iTe.

®) IO JANd fReI) SRiEeRd a1 STett.

) ITHIOT ISHIRTCAST aTerar & AT HTa.

FRieAdeh! DU U™ TRIER Sied /3MMed ?

9) Wheh 37 3MUT § ) Txh & AT S 3) Bh B Q) 3, g AT §

With reference to the Indian economy after the 1991 economic liberalization, consider the

following statements:

a) Worker productivity per worker at 2004 — 05 prices) increased in urban areas while it decreased
in rural areas.

b) The percentage share of rural areas in the workforce steadily increased.

c¢) Inrural areas, the growth in non-farm economy increased.

d) The growth rate in rural employment decreased.

Which of the statements given above is/are correct ?
1) aand b only 2) cand d only 3) c only 4)a,bandd

FoTeheaT ST STURT Teh ST 3T1RIeh Hehe IGHACIRT, WeTieTdehl IurT Fcht / UIRUITeS HRATCT
BIE YO e RIch! fiesuardt erarrer 3mme ?

31) Srcupreie fagelt wotfar sraeise ATer

) 3R el dar STsm

&) it wieaeh @T GRadHET SR
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4)

Wlellel Pl I I IR HasT:

9) %eh 31 Q) 31 3IfUr § heh 3) & Bh ¥) o, § 3 &

If another global financial crisis happens in the near future, which of the following actions/policies
are most likely to give some immunity to India ?

a) Not depending on short-term foreign borrowings

b) Opening up to more foreign banks

¢) Maintaining full capital account convertibility

Select the correct answer using the code given below :

1) aonly 2)aand b only 3) c only 4)a,bandc

ITIEIT TR P! AR T ...
q) il IUMIT Td HHT I, ) IRBRAT TR AHIT qTG .
3) Srfeavdiel [aauehrT @d aredr. 8) SR UqHuT g9 dTedl.

If the interest rate is decreased in an economy, it will .........
1) decrease the consumption expenditure in the economy.
2) increase the tax collection of the Government.

3) increase the investment expenditure in the economy.

4) increase the total savings in the economy.

(3) TR FehedHT, AISTHIY SIfOr TSt TR e BRI

9)
?)
3)
8)

)

TRETN Hepeds a HROT

A4} AT 3rgaTe g STRe Rcsn®
SReIRT, SRS HISHY T 37eTST
TR e BRI

q) TR HAeheasT 9 HRUI

Q) U4 AT srEaTe 9 giee fAdene
IARS Ulege] 3fs gPAT Serue SR Juasidrear AerRaM [eRid dhetell ag- 3R TRl
et Wefiedeh! AT FHAI PRl ?
37) BRI FORTER f1e01, STRI, Hie T MO HaTURET dferd 180!
) IET FRIER HARhT FHAT
&) MER ERER NPT e 3T GDP aerar &
gl IR :
q) (9) 37 (F) Beh 2) (), () 3N (F) 3) () &b ®) (1) 3Mfor ()
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)

1)

Q)

The Multi-dimensional Poverty Index developed by Oxford Poverty and Human Development
Initiative with UNDP support covers which of the following?

a) Deprivation of education, health, assets and services at household level

b) Purchasing power parity at national level

c) Extent of budget deficit and GDP growth rate at national level

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

3) SIReARET, SRS AISHM 9 3

ARAT fSeiean aufd, 31iigd SIRGINST Pl ST SARUET SR Mg BRI ...

9) TR &R ISAFAR TG R) fopHcill Taedt ISATTAR Seerd

3) TP 5T I ISATAR dqerd 8) STESIeh fAqRuMTe JoreT ISR Feeld
In a given year in India, official poverty lines are higher in some States than in others because
1) poverty rates vary from State to State

2) price levels vary from State to State

3) Gross State Product varies from State to State

4) quality of public distribution varies from State to State

¥) TRe et Srigd

(8) ISAIR AN BRI, JHRIK UhR T &9

IPRIR YBR g oY
Ao fAfefe PRI
P19 fahTT T SeSThdr
q) SPRI UHR g T&HT
UTeel SRISHRT T80T ...
9) HioaT IRAT b SRISIR AT Q) FIRIT AR SueTeds ATgl.
3) ST foReples ScdTeaRdT I IR ¥) HIRTRME SATCDhdT HHI 3T

Disguised unemployment generally means ............
1) large number of people remain unemployed. 2) alternative employment is not available.
3) marginal productivity of labour is zero 4) productivity of workers is low

CIGICRERISRCEINCRSI

3iENfies AR (Furft emeen) Sl (JIURoM) Fad, 09¢ TR

37) SR Ffead gediear JASTRRAS! M @] el et TR, HH /HUITT PIHIRAT Digd CIbul A
gIge.
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3)

3)

)

1)

§) ARYRT PIFTRIAT JTeciia s YR ST DIVl T AETHID Ta.

RIS PO AU sRISR 312/ 318 ?

9) (31) Heh R) (¥) wch

3) qt (a) sr («) 8) Qg (37) fobar (9) Tl

Consider the following statements:

As per the Industrial Employment (Standing Orders) Central (Amendment) Rules, 2018

a) if rules for fixed-term employment are implemented, it becomes easier for the firms/companies
to layoff workers.

b) no notice of termination of employment shall be necessary in the case of temporary workman.

Which of the statements given above is / are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

YRATT PR IR TS BHIRT HeHid, Wiefledd! PIue e /3 sRIeR 3R/ ?

1) I IFITAIRG HHIR SRR vfosy fafg et seavsrardh g 3.

¥) 94 MRS PR FRIMT HM/ T 3T aNerersy UHedrst Uil 3ied.

%) TG STRATYHAT fafall FeNT thch AT S QIR dc S, 3T IS ARBR Tl SIRRITGR <
NEit

Tt S :

9) (ar) 3TfOr () wh ) (31) ST () 3) (3) smfor (<) 8) (31), (3) 3T ()

With reference to casual workers employed in India, which of the following statements is/are

correct?

a) All casual workers are entitled for Employees Provident Fund coverage.

b) All casual workers are entitled for regular working hours and overtime payment.

c¢) The government can by a notification specify that an establishment or industry shall pay wages
only through its bank account.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

?) AoFR FAfdt wrisp
q) I IR S T SR SHIAT PeaKiial Uie Aeed
R) TIRGERSETele (ddive) Peariial e Aaw
3) 4 AN FENI PeaTdiel e aaw
) PIUATE RIS UG TS

Among the following who are eligible to benefit from the “Mahatma Gandhi National Rural
Employment Guarantee Act” ?

1) Adult members of only the scheduled caste and scheduled tribe households

2) Adult members of below poverty line (BPL) households

3) Adult members of households of all backward communities

4) Adult members of any household
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)

1)

3) T AP T SeESThaT

TR grHioT SusiifaesT SR wrtor TReTeET IuSifded TR ¥ GURUITET T R ?

31) ATEOT RTIA AIGAT TN Tl ScdTe ST 3MfoT et SgaiT chg; oI kot

q) "TR-FERAT TS’ ARG o SN Plered [GpRT UM oot

&) AqHTHT femr, W, et gu-de onfdr gem R Iuawur Hithd IRaT

Tt S :

9) (@) wH ?) (a1) smfor (=) 3) () nfor () 8) (31), (3) 3nfor ()

How does the National Rural Livelihood Mission seek to improve livelihood options of rural

poor?

a) By setting up a large number of new manufacturing industries and agribusiness centres in rural
areas

b) By strengthening ‘self-help groups’ and providing skill development

c) By supplying seeds, fertilizers, diesel pump-sets and micro-irrigation equipment free of cost
to farmers

Answer Options :

1) (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

(1) fafdy IR TeraT Aewia TAHT TR
WA SThcIt JApeT=TT

i wmTaeE
ATHTISH &3Ta AEHHRIT — TR, ALSUSTD, g9 T

q) Wﬁmﬁ%ﬁw

ﬂ)wwﬁrwaﬁzﬁw

Q) T YRR URATaAT 3T ARieeies dwa

3) o SIRIBR ST I YR ARieeid aw
8) RITHPT P

‘Economic Justice; as one of the objectives of the Indian Constitution has been provided in.............
1) the Preamble and the Fundamental Rights

2) the Preamble and the Directive Principles of State Policy

3) the Fundamental Rights and the Directive Principles of State Policy

4) None of the above
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2)

3)

3)

)

1)

WCHIeth! IO FHTILND AT 1T e 3R FgUr IS ?

31) AT feri pu=ariam S exogr werrt <o

¥) 4 fiearmed vret Rieer PR Al v axor

P) ATl IRTATIRI IRBRNI G dIg Pl

3) g WIS IISTHclT gosdhe! S0

gt SR :

9) (31) <mfdr () weh ) (31) M (@) ®eh 3) (3), (P) MO (3) %) (30), @), (P), (¥)
Which of the following can be said to be essentially the parts of Inclusive Governance?
a) Permitting the Non-Banking Financial Companies to do banking

b) Establishing effective District Planning Committees in all the districts

¢) Increasing the government spending on public health

d) Strengthening the Mid-day Meal Scheme

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

‘IFwTEe Il $exhd (UPD)' @] Heimges Qletiefdds! Biordr TRum d9adr ?

9) AT YHCHTS! HieTsel dicicd 3MaeTdH ATRId.

?) fefTea Te R aF careid Wit el qufuor S e,

3) UHSITRET 3T TES dlae.

¥) SFIGM 9T SATRY TR WY THHET geel.

Which of the following is a most likely consequence of implementing the ‘Unified Payments
Interface (UPI)’?

1) Mobile wallets will not be necessary for online payments.

2) Digital currency will totally replace the physical currency in about two decades.
3) FDI inflows will drastically increase.

4) Direct transfer of subsidies to poor people will become very effective.

3) faxitr wmaeE
........... ST TUTEAT S U7 AT g% DRUATT 3ATell 318

9) TR ANBHT T TSR Tgehot Quf

Q) TTRICIAT YRS HigedT sad T Hiedtgd <ol

3) 297 3N FHIAIMTET TIedTg <01

¥ ) SURT FHGRIAT 3TRie Aed UG vl

Pradhan Mantri Jan Dhan Yojana has been launched for

1) providing housing loan to poor people at cheaper interest rates
2) Promoting women’s Self Help Groups in backward areas

3) promoting financial inclusion in the country

4) providing financial help to marginalised communities
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Q)

2)

)

1)

Q)

2)

3)

3TfRieh FHTALMTCAT AT SUARATS! HRAT UHC §eh FATU PR IRATHIT SUIT ATet! 3. IT AT

TeficTieh! DIV AU SRISR 318/ 3 ?

37) AlTEe CoTthI Ut ATMT FORHThE < ST HIcehI<aT STTOT Ifgarerie fFREvmRaTel 31g o UHe

¥) UHc db hfec HIS M7 ST HTE gl TRT Ho Ihd.

®) UHC ST Pol QAT IUhY B I ATRId.

gt SR :

9) (31) Th R) (87) omfdr (3) ww 3) (31), (3) o7 () 8) (F) N (F) Feh

The establishment of ‘Payment Banks’ is being allowed in India to promote financial inclusion.

Which of the following statements is/are correct in this context?

a) Mobile telephone companies and supermarket chains that are owned and controlled by residents
are eligible to be promoters of Payment Banks.

b) Payment Banks can issue both credit cards and debit cards.

¢) Payment Banks cannot undertake lending activities.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (a) and (c) only

3) UTHTIEHT &3S AUl — SIAdH™l, TYSeliolh, §9d IS

HRAT T Spichgd WU &I Pt ... Tl fSel SR &t 3.

9) 9rcft R) g&H M &g ST 3) oA Ieh Q) a¥eT I
Priority Sector Lending by banks in India constitutes the lending to ............

1) agriculture 2) micro and small enterprises

3) weaker sections 4) All of the above

TefieTdeh! DI FAAFHILD ATerd TRPRI I Yo IR Hed D% Aehd] ?

31) TRI-Hed ST UIcqTgT <01

) g&d, g AT FEgT I WicdTg <ol

%) firemr g PRI HATSIAUN FHROT

gt SR :

9) (31) ST (3) Hh ) () AT () 3) () smfor () 8) (31), (3) amfor ()
Which of the following can aid in furthering the Government’s objective of inclusive growth?
a) Promoting Self-Help Groups

b) Promoting Micro, Small and Medium Enterprises

c¢) Implementing the Right to Education Act

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

P thfse PIS ASHTT, WieheTddh! PIVAT SRS ATHHT U shise TR et At ?
31) AT AT UGS Wobel Higaed

¥) DT gravex, oaeR I it gt waxat

&) T PoarAT ITHNT AT
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3)

4)

4)

5)

T) PleUiHaRal &

3) PIFD BRI TR T Mara fagert aur IR

Tl PIS aqRe Iig IR Faer:

9) Beh 3T, FMMTS Q) 3T, H MU STh  3) d, P, S 30T g b Q) 3T, &, B, S 3T 3
Under the Kisan Credit Card scheme, short-term credit support is given to farmers for which of
the following purposes ?

a) Working capital for maintenance of farm assets

b) Purchase of combine harvesters, tractors and mini trucks

¢) Consumption requirements of farm households

d) Post-harvest expenses

e) Construction of family house and setting up of village cold storage facility

Select the correct answer using the code given below :

1)a,band e only 2)a,canddonly 3)b,c,dandeonly 4)a,b,c,dande

TefieTdeh! DU SIS /3G IV HeaieT AT shise ATRA?

31) urefres arfior S

) Pt anfor Tmvr Riemardt T §6

P) ST fIpRT ST

gt SN

q) (31) Jfor (&) Beh R) (), (§) 3y (&) 3) (B) Beh ®) (31) 3mfor ()

Which of the following grants/grant direct credit assistance to rural households?

a) Regional Rural Banks

b) National Bank for Agriculture and Rural Development

c¢) Land Development Banks

Answer Options :

1) (b) and (c) only 2) (a), (b)and (¢) 3) (c) only 4) (a) and (c)

ARIPIIRIFT FgURST AT Sl Terhiel Al 3R Aardl RS, AT Agh AT TGRSR 37T
QETATE FHI AR, ARIHI-HRIAT SiRId UG Phoied] a1 IT 3.

37) shisc gfaer q) Fad gfaur
o) famr gfien ) foreft geiaRor gfder
gl IR :

q) (81) ST (F) W ) (31), (@) M (P) 3) (30), () o7 (8) ) (3N), (W), (P), (¥)
Microfinance is the provision of financial services to people of low-income groups. This includes
both the consumers and the self-employed. The service/services rendered under micro-finance
is/are :

a) Credit facilities b) Savings facilities

¢) Insurance facilities d) Fund Transfer facilities

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)
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9)

7)
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)

1)

ofe b AT 4o SfEE 3ME ...

9) HicaT Tt TP Neald PRI SUSTITAS! TI axrdd
Q) fafaer IERfiepe sapied o wet st

3) Jafchep ST e fAprarTid! fifdre Rieg < =mad

¥) e dpiT SaT Tplid PRUIRITST SRSR TRIT hRIad

The basic aim of Lead Bank Scheme is that ..............

1) big banks should try to open offices in each district

2) there should be stiff competition among the various nationalized banks

3) individual banks should adopt particular districts for inten-sive development
4) all the banks should make intensive efforts to mobilize deposits

37) SISR @i g AI-UTSH oifsTdl Uep el I STl M7 ST e fSthieeweal SIRgHIcT AMR
ST @ 2rehl.

) YR, Searer feber it e Femo RUIRATS! SIeR ol ggdeh ATgHA! SETSTebiT faef! ST,

qift S :

q) (81) Hh R)(3) Hh 3) (3n) anfor (3) = ) (3N) fbar (3) I R

Why is the offering of “teaser loans” by commercial banks a cause of economic concern ?

a) The teaser loans are considered to be an aspect of sub-prime lending and banks may be exposed
to the risk of defaulters in future.

b) In India, the teaser loans are mostly given to inexperienced entrepreneurs to set up manufacturing
or export units.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

(€) AR, Jol, S AN JredT Mol HrispH

AfEeT AeiIhroT g STAfdpTd
RS AR Iiear AeHidier drish

q9) GfEdT AecllhRUl g dTAfdpra
GTefieTieh! P ST ST ‘Tellde] Siex 719 Ssad’ HHTh ol ?

q) IS FPIAIHD HIRA Q) Tgh WF HAMATUBR qReS

3) UN #fgefr 8) SIS TR Here

Which of the following gives ‘Global Gender Gap Index’ ranking to the countries of the world?
1) World Economic Forum 2) UN Human Rights Council

3) UN Women 4) World Health Organization
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3)

)

I Ger SR < SfeR Welletde! vt 3med ?

31) TRIGR Reram S1fdT T AT HUINISTET STRGdT fHfor g,

9) e Hel, bR Heft MfOT STeRhyvIre THI0T T ol

&) IR, RS JUIUT I Giferer 7 dhetel diges I ATRRT Uil <ul.

3) Ulegl TSI dToR dTeau.

Tt S :

9) (31) Th R) (1) 3o () &k 3) (31), () 3T (P) %) () M (F) Feh
Which of the following are the objectives of ‘National Nutrition Mission’?

a) To create awareness relating to malnutrition among pregnant women and lactating mothers.
b) To reduce the incidence of anaemia among young children, adolescent girls and

¢) To promote the consumption of millets, coarse cereals and unpolished rice.

d) To promote the consumption of poultry eggs.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

HIGed Y (JURUT) BRIGT, 090 SI§d Wt HIuRT e sRIsR 1R/ 3 ?

37) Tl AfgetiET N Al SRgegd Snfor o Afwarear sRgciHaRel Ao IS Ay e,

¥) P IRTAT ST IS SRS A 8T o Ae QoI Rari feeft arfes.

&) QT Tl 3cicdT Al PH! g fiesdd.

GTeflel Pls aTdRe g IR e,

q) (31) Feh ?) (P) Bh

3) (an), (@) o () 8) (%) 3T () Heh

Which of the following statements is / are correct regarding the Maternity Benefit (Amendment)

Act, 20177

a) Pregnant women are entitled for three months pre-delivery and three months post-delivery
paid leave.

b) Enterprises with creches must allow the mother minimum six creche visits daily.

¢) Women with two children get reduced entitlements.

Select the correct answer using the code given below.
1) (a) only 2) (c) only 3) (a), (b) and (c¢) 4) (b) and (c) only

) B ARIRG, RN, HRIR =T Juidial BRIk

]I 3Fef JREM BIIeT, 093 3 holedT RIS el Wieflerddh! PIort AU sRIsR 38 /3R ?

31) ‘TR WETelte (didiver)’ arfaRia AUt Pgsa SR U fAesfuar U a1,

9) Peaiicl SIS Higell, 9¢ Iy fohar e e agrt, fRremafie SR PRugredl I Pavad
3N,

%) RIS R AT TieT HIdT RISRIUITT 31 AR FaT e SRIST 9§00 theiord ‘eh—8™
oM YUY U TR,

gl IR :

q) (d) &b R) () anfer () 3) (ar) afor (&) 8) (31), (9) 3T (@)
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Which of the statement given below is/are correct with reference to the provisions made under

the National Food Security Act, 2013 ?

a) The families coming under the category of ‘below poverty line (BPL)’ only are eligible to
receive subsidized food grains.

b) The eldest woman in a household, of age 18 years or above, shall be the head of the household
for the purpose of issuance of a ration card.

c¢) Pregnant women and lactating mothers are entitled to a ‘take-home ration’ of 1600calories
per day during pregnancy and for six months thereafter

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

(19) AP AT SAMOT TUITCHD Afre=]
BIBHEAEIT ST
AR HEATHD e
ATBERIAT UMD et

9) SIHEEIT STTUET
R) AP THTHD ey

3) AR O aforse=]

PIVATE! ST A, TTeAIeTUeh] PIVIAT Teh TN T AT HiedaTral HET HFeT Shect ?

q) PR ATERT SHIT

R) Tl SARGI, SR YRS Jfaur 3nfor gef==n drar

3) PRI NI ANPIRSTT AR

8) I TR foearT ST gRiaTerd arde!

In the context of any country, which one of the following would be considered as part of its social
capital?

1) The proportion of literates in the population

2) The stock of its buildings, other infrastructure and machines

3) The size of population in the working age group

4) The level of mutual trust and harmony in the society
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)

1)

Q)

2)

(¢) ANPEHT Tsh, ATBEEAT RO

ANPAT Th
ANPEEAT LRT
ANRIART T IRAATTR

q) AT TEh
i faepramelt Heferd AR FehqumeaT arelidl fafdrs coman faar &
37) PHI TSR T At g R
) I SR 0T I G R
) PHI GG RNE I STHK
Teft feeiedT Piedl IR B Niel CoITaT A Y Fder

NI -T-h )P -3F-4d )T -k - $)Pd - — 3
Consider the following specific stages of demographic transition associated with economic
development :

a) Low birth rate with low death rate

b) High birth rate with high death rate

c¢) High birth rate with low death rate

Select the correct order of the above stages using the codes given below :
l)a-b-c 2)c-a-b 3)b-c-a 4)c-b-a

3) SR TIROT
ARG &1 SHIIh® fSEEs SRTelen <31 RV SAI@dl SIIdl. § AT 3T ?
q) 9y JuRaTelle AN TR0 I AP ) 94-§ Y TINCKITS & ATHHET
3) &4 auiaRIeT JANCIdeT 99 AP 8) TGO I SAThee
India is regarded as a country with “Demographic Dividend”. This is due to
1) Its high population in the age group below 15 years
2) Its high population in the age group of 15-64 years
3) Its high population in the age group above 65 years
4) Its high total population

AT ffResy Jyut v MesRvamId YRAM BRI avid 2

9) DI fIBRATAT DT 00 R) I AT JREM AT AR 00
3) ST YHIOT PHHT RO D REE RGN RCISUIERUI
To obtain full benefits of demographic dividend what should India do?
1) Promoting skill development 2) Introducing more social security schemes
3) Reducing infant mortality rate 4) Privatization of higher education
3) ARRIGRUT § TIATTR
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3)

)

1)

?)

2)

() T, IR, ATISTE HRET SIS gt

fareroT =TI SUHA
IR ATl SUhH
ATHTTE [RETT ST SUshd

q) forarur &AM SUhH

Ueh AehodT FgU HIFdl Wigdel M ... A& PR AT UfhIT HEHIT 3TUeh ITed YhR TE
el 3IMMe.

31) AT hiH IRIp Higaer ST .

) 2T At ST, PIeTed UTded! ST T aredur.

&) T ORI STHT 0T,

) P HU ST v,

RSB PIvT e sRIsR 31/ 31 ?

q) (31) 3for (&) Peh Q) (31), (@) 3nfor (8)
3) (3), (P) 3Mfr (3) Feh 8) (9) 3Mfr (8) Weh

Human capital formation as a concept is better explained in terms of a process which enables........
a) Individuals of a country to accumulate more capital.

b) Increasing the knowledge, skill levels and capacities of the people of the country.

¢) Accumulation of tangible wealth.

d) Accumulation of intangible wealth.

Which of the statements given above is/are correct?

1) (a) and (b) only 2) (a), (b) and (¢) 3) (a), (c¢) and (d) 4) (b) and (d) only

"Joel feped B1felfthepa Shaad (NSQF) =T \eyid, Wieiiciid! v fJem RIS 31g/3med ?
31) NSQF 3icifd, U fqemeff dass siaarRes fremngR Femasard! THmMs Wg & Qe

) NSQF =1 SiHcrasTauiid JFufard uRumm =gurs] e AT A fR1er Fiariet Torefietdr,
IR SR :

1) (31) Bh Q) (d) & 3) (%) anfor (3) At 8) () fobar () arErEt A

With reference to ‘National Skills Qualification Framework (NSQF)’, which of the statements

given below is/are correct?

a) Under NSQF, a learner can acquire the certification for competency only through formal
learning.

b) An outcome expected from the implementation of NSQF is the mobility between vocational
and general education.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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3)

8)

4)

4)

5)

T BRIV ' Fewld Wiefter MET AR o=

31) YT HRIR AT & YR IRBRAT PIfFp M1 TfAe0T AR Ueh Suhy 3R

q) QaTchier SfITErT TourHT ISR Aeft GURTIRAS! e Alened IR HRIR AT o drudTd
3Tl 3.

RieTdeh! DIV fTUM TR 318 /3 ?

q) (1) wh ?) (@) wh 3) (3n) emfer () At %) () b (3) St

Consider the following in respect of ‘National Career Service’:

a) National Career Service is an initiative of the Department of Personnel and Training, Government
of India.

b) National Career Service has been launched in a Mission Mode to improve the employment
opportunities to uneducated youth of the country.

Which of the above statements is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

eI URA M AT BRI ST BT MR ?

q) IR AT SO FRBRAT A&107 AT SMOT FAT+eh AR TTeTchiel Seebraiell HIcTg oo
900% AT&RAT UTH hrUl.

R) AT TASFIGR fIPRIFAT MG Ale RIS I T80T FRAMT ST FHGrRIef Ssur,

3) YRATAT dsiif+ep 3T qifies 9chl SaUIRITS! HRATIT dsiTi+idh ALNEM TR Tovehe [l

®) TTHIOT SMOT <rgt TRGTeaT TR HaT 3Mfor freumardt faey fefih Rag &1 anfor et
PleTey [IBRT BRIH AT TR TRIET SRR e HId! Hiedel IRy ol

What is the aim of the programme ‘Unnat Bharat Abhiyan’?

1) Achieving 100% literacy by promoting collaboration between voluntary organizations and
government’s education system and local communities.

2) Connecting institutions of higher education with local communities to address development
challenges through appropriate technologies.

3) Strengthening India’s scientific research institutions in order to make India a scientific and
technological power.

4) Developing human capital by allocating special funds for health care and education of rural
and urban poor, and organizing skill development programmes and vocational training for them.

'Recognition of Prior Learning Scheme' a1 Sg@ @t deft sramimed Aguiag dvell STl
9) YRUTR HATEIHIGR DB BFRIRHT THATT detell hIed THTO .

R) T a1 HRIHHAGS! fediaie ahidl Aiquft @,

3) PTE! A T SUSHHHE JTHIOT ST 9Te<t TRATATS! PIel P ANh=AT IRGT SIv.
Q) T Dlerey famRT BRIt ufderomefft HureT deledn wieedie THIUREROT R,

'Recognition of Prior Learning Scheme' is sometimes mentioned in the news with reference to
1) Certifying the skills acquired by construction workers through traditional channels.

2) Enrolling the persons in Universities for distance learning programmes.

3) Reserving some skilled jobs to rural and urban poor in some public sector undertakings.

4) Certifying the skills acquired by trainees under the National Skill Development Programme.
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8)

T Pleret IR AeTedT FeAid Wiefleridh! HIor U SRR 3ied /31med ?

37) & PR M7 ISR FACITE T IS 3.

9) g 3R MeleRIET dite [Rped, Seisiedr, 3nfie anfor f$fieer Qrera ufdemr i 2.

®) UM SIFRIFT HHarIT &dT T P grar haadbt ERRET aRl g A 3fEF TR,

gt SR :

q) (31) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()

Which of the statements given below is/are correct with reference to Pradhan Mantri Kaushal

Vikas Yojana ?

a) Itis the flagship scheme of the Ministry of Labour and Employment.

b) It, among other things, will also impart training in soft skills, entrepreneurship, financial and
digital literacy.

c¢) It aims to align the competencies of the un-regulated workforce of the count, to the National
Skill Qualification Framework.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
3eel g e aicRfd TAToH Sal 31e

9) o 3mfor st faumT ?) AR FTHT

3) i<t s Q) P PRI 3MfOT IESThdT HATer

Atal Innovation Mission is set up under the

1) Department of Science and Technology

2) Ministry of Employment

3) NITT Aayog

4) Ministry of Skill Development and Entrepreneurship

fareroTett TIoTaT Se BT 3R 2

31) TRTg TRl Serfirer ARAFT TR HHRT ITSTIRY FerH RN

q) QroRft & M1 FHERITE Aed U TRBRI Mesived) e Sum=ar freomar gt areaur.

&) WTIfHe ST ATefies QeI YR GAeHea YRV SRUAATC! WISl &ehl ST FRATehgd
Ve i ANMHRT MicHTE <o,

gt SR :

9) (@) wH ?) (a1) sfor () 3) (@) snfor () 8) (31), (3) amfor ()

What is the purpose of Vidyanjali Yojana’?

a) To enable the famous foreign educational institutions to open their campuses in

b) To increase the quality of education provided in government schools by taking help from the
private sector and the community.

¢) To encourage voluntary monetary contributions from private individuals and organizations so
as to improve the infrastructure facilities for primary and secondary schools.

Answer Options :
1) (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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)

1)

Q)

Q) IR ST SUhH

RTERT ATHIOT SRR SIRRITRAT SeHfd, “amen’ a1 URIfd AHGRIe SR AasTea Wietietidh! PIurl
BT 3T ?

3T) TRICITYE plosoil TUIAUIATST AfRAT SRR Ffaod Alea ool

¥) THYRUT Tadx 3NBGUIRITS THURUT Tl fohe groRor

P) qNoT IMOT eRfTeRuT AT <on

) JrET TRICIT ROn

qift SR :

q) (&) ST (3) ®eh ) (1), () 3MOr (F) 3) (31), (&) M (3) ) (31), (), (P), (3)
With reference to National Rural Health Mission, which of the following are the jobs of ‘ASHA’,
a trained community health worker?

a) Accompanying women to the health facility for antenatal care checkup

b) Using pregnancy test kits for early detection of pregnancy

¢) Providing information on nutrition and immunization

d) Conducting the delivery of baby
Answer Options :

1) (a) and (b) only 2) (), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

3) AETOTS FRET SAA I SUHH

RTeAIcTUehT PIVAT HHATIFT HHARI T T JiSTieria IR JRET dHeaxsl fHes, e 2

31) gleed IMfoT WRerked §) AlCR dTegsd IUuhHH

@) JAYS SR 3) WIonft dehiT AT

Tt SR :

q) (37) ST () T ) (), (F) M () 3) (3F), () 3 () 8) (30), (W), (®), ()
The employees of which of the following can have the ‘Social Security’ coverage under Employees’
State Insurance Scheme?

a) Hotels and restaurants b) Motor transport undertakings

c) Newspaper establishments d) Private medical institutions

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

"3 3TeHY AT AT Tt e, Wiefietddh! v fave aRISR 3R/ 31Rd ?

31) TSI faHT IaRdelel He 81 Peardl TiRd fohaT Hior YHEH Peariial Heerdm HHIE e
IRAUT IMTFIE 3TTR.

) fo|T SRaT IS 30 O €4 I¥ JANTEI AT,

%) AT ] M 92 =T eI feha SrFeied faTeRe ™ QM Jetiudid ey frsgqrdidt aRag armR.

R SR :

q) () 31T (&) ®eh ) (31), () SN (F) 3) () Feh 8) (1) 3Mfdr ()
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With reference to “Aam Admi Bima Yojana”, which of the statements given above is/are correct ?

a) The member insured under the scheme must be the head of the family or an earning member of
the family in a rural landless household.

b) The member insured must be in the-age group of 30 to 65 years.

c¢) There is a provision for free scholarship for up to two children of the insured who are studying
between classes 9 and 12.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

'31eel Ue AH’ J18d, Wiefleltdh! PIvR e s 318/ 3Med 2

37) & U o gt Fgelt I o e STt uTRer sRAEfed el BIEMRET Fed .

q) PgaNiicl teh b G IT IS AHIeT alss e,

) AT JIHR il /TS T I U=erat g4l 31Te.

Tt S :

9) (@) ST (&) ®H  R) (3), (@) M (F) 3) () Fh 8) (1) amfor ()
Regarding ‘Atal Pension Yojana’, which of the following statements is/are correct?

a) Itis a minimum guaranteed pension scheme mainly targeted at unorganized sector workers.
b) Only one member of a family can join the scheme.

¢) Same amount of pension is guaranteed for the spouse for life after subscriber’s death.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

RgTefierieh! Iur ERT U= Tumelt (NPS) 78 IHld 8l 91l ?

9) Bch AR ARG ANRS

R) Ddes 9 T 4Y FANCIElS ehl

3) WA I ARBRIT SAFRIATEAT ARG W GO BIUIR WY 159 WRBRT HHERY

%) 9 TSt o0y USil fohal TR Haid o], FIUIAT LS Seflcilel PHATINE Td Do AXDRI DHARS

Who among the following can join the National Pension System (NPS)?

1) Resident Indian citizens only

2) Persons of age from 21 to 55 only

3) All State Government employees joining the services after the date of notification by the
respective State Governments

4) All Central Government employees including those of Armed Forces joining the services on
or after 1ST April, 2004

RAT, RIS AR fmmeianta, et anfor gor wrreriean Jaaradt < Suarafifes, Wefietd!
PO HRIC AHIT: BegR dhel ST ?

3) QETEITAT FURPIER IR YA ey eI FIUIh YUTTeiieal JAaRid e fepAed
q) TN U fHAT SR Pl G¥ Sehia SIS I Jhd el R, a9 Rig Sed™d

) AR GeUiAT &I BIUIR JHA PH! IRUING! A9 AZATR F9vare fhd

) PIUATE T U&TH Wl qRae] Bed PRIETAT I Samard! fhd

GTelled PIS aqRe I IR g

9) Beh 3T, § MM S Q) 31, P 3MUT S Bxh 3) § 37T P Beh ¥) a1, §, & 3T
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In India, under cyber insurance for individuals, which of thefollowing benefits are generally

covered, in addition to payment for the loss of funds and other benefits ?

a) Cost of restoration of the computer system in case of malware disrupting access to one’s
computer

b) Cost of a new computer if some miscreant wilfully damages it, if proved so

c¢) Cost of hiring a specialized consultant to minimize the loss in case of cyber extortion

d) Cost of defence in the Court of Law if any third party files a suit

Select the correct answer using the code given below :

1)a,banddonly 2)a,canddonly 3)band c only 4)a,b,candd

(90) HETS — RU, yRumd, A=, U

TENTTS - W&oy, fAdera
HENTTS - RO, RO
HENTS - fAor, Su™

q) HERTE - 3904, fAderies, derrdt AR, demer ors
ATelieAtihl o ' sienfile HHEIRRICT Uedh fhid Faerd HHih’ STex AT 2

q) Rereg 9 3iith e R) e FagR fawm

3) PR R g ) P for ufdeor faumr

Which of the following brings out the ‘Consumer Price Index Number for the Industrial Workers’?
1) The Reserve Bank of India 2) The Department of Economic Affairs

3) The Labour Bureau 4) The department of Personnel and Training
wrefler faum foarma =

9. UTep fdbaa e (CPI) 98 319K aoiM 8T fohdd fHgends (WPI) Uer SR 3R,

2. e fbmet CPl deer @xdl, WPI & $%R &< Tel.

3. ARG i dobt WPI g Iearei T SURT 72U WihRel 3Te MO G R0l & SGavaral

fyofT eder aTme.

RITDT PIUr fAU™ aRIeR 3Med/3Med ?

q) Wb 9 AT 2 ?) Heh R 3) 3 Bh 8 8) 9, 2 3T 3

Consider the following statements

1. The weightage of food in Consumer Price Index (CPI) is higher than that in Wholesale Price
Index (WPI).

2. The WPI does not capture changes in the prices of services, which CPI does.

3. Reserve Bank of India has now adopted WPI as its key measure of inflation and to decide on
changing the key policy rates.
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8)

4)
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5)

Which of the statements given- above is/are correct ?
1) 1 and 2 only 2) 2 only 3) 3 only 4, 4)1,2and 3

IR Srfeaveiear Hedfd Wiefierid PIurd g™ aRieR 3med ?

37) A g9t 3T &1 (NEER) A& Siletell a1 & 9T Jeid Silelel! dale Gefad.

q) Reral sthidceg tawast X (REER) A HiTetel! a16 & @R FUicHadHeiel URUT Gefad.

&) R QMM TG Jed ST Jerarerar aedt dal & (NEER) a1for (REER) Aefiet
AT FRDN BRUMT SRUART STRIT 3.

i SR :

q) (31) &Mfr (3) B ) () 3TN (D) Heh  3) (3F) MO (F) Beh ) (), () 3" ()

With reference to the Indian economy, consider the following statements:

a) Anincrease in Nominal Effective Exchange Rate (NEER) indicates the appreciation of rupee.

b) An increase in the Real Effective Exchange Rate (REER) indicates an improvement in trade
competitiveness.

¢) An increasing trend in domestic inflation relative to inflation in other countries is likely to
cause an increasing divergence between NEER and REER.

Answer Options :
1) (a) and (b) only 2)(b)and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

STRTRTER deATed fhrchiean St STaied ''sic e diisal’’ a1 aRaAR g dhell Sl 3T gTeqrar 37
B 3Z?
37) g el delrd U el SR

q) g del SR FHGT fHbl.

P) IS TP Tal.

gt SR

q) (31) ®h Q) (81) iy (&) Wk 3) (30), () &l (B)  8) (&) 3" (B) Heh

In the context of global oil prices, “Brent crude oil” is frequently referred .to in the news. What
does this term imply ?

a) It is a major classification of crude oil.

b) It is sourced from North Sea.

c¢) It does not contain sulphur.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

YR el HERTEeT Ty @ielierteh! hIvr fau sRIsR 318 ?

9) YRAT Jgrms PRI IRl & Pass TR IRPRA! TEESRT 3MTR
Q) WenTs F=und Rereg ddve dlurdiar T et

3) IoMIT OC S Jaare FRIfd gvar 7ed g

8) TTaIEHes derare AT gvar Aed g

Which reference to inflation in India, which of the following statements is correct?

1) Controlling the inflation in India is the responsibility of the Government of India only
2) The Reserve Bank of India has no role in controlling the inflation

3) Decreased money circulation helps in controlling the inflation

4) Increased money circulation helps in controlling the inflation
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)

6)

7)

<)

8)

)

1)

Sreferaveict YeImaT Tureh Wielielidh! B araal ?

9) JpmEefict g IR THTHR a1 Q) dpmefier denfies aRerdT YHOT aTeur
3) olieprean dfhr Ferfimed are Q) AT APART 1S

The money multiplier in an economy increases with which one of the following?

1) Increase in the Cash Reserve Ratio in the banks

2) Increase in the Statutory Liquidity Ratio in the banks.

3) Increase in the banking habit of the people.

4) Increase in the population of the country.

Sreferavciict YeIraT urds Wletiefddh! PHIoI aTeal ?
9) G IR THTHR TG Q) ANHEAAT dfhT TR a1
3) JYTep TReTdT THTT dTeor Q) AT AR 1S

The money multiplier in an economy increases with which one of the following?
1) Increase in the cash reserve ratio

2) Increase in the banking habit of the population

3) Increase in the statutory liquidity ratio

4) Increase in the population of the country

Uerrlt FHTORt ATeeTeR FH g fgeiedn Ul GRATT ............... 3.
9) fepreife Tt quf R) NI 16
3) NIRRT &C ¥) I 3O ASAIRTAT UTdedld die

Supply of money remaining the same when there is an increase in demand for money, there will

1) a full in the level of prices

2) an increase in the rate of interest

3) a decrease in the rate of interest

4) an increase in the level of income and employment

Q) HEFTE - HRU, gRumg

Tl PIOTdT THTT Haid SR HETTS dTefaudTe! 2reRidT 38 ?
9) AP PoIrd Reths

R) AABAN JC T PIGUIRIAS! SFdbgd Dol HUL.

3) JNEHANT ¢ ARUIRAIS! Sehichgd Dol €0l

8) RRIPAT ¢ RUIIS T I TR ROl

Which one of the following is likely to be the most inflationary in its effect?
1) Repayment of public debt

2) Borrowing from the public to finance a budget deficit.

3) Borrowing from banks to finance a budget deficit

4) Creating new money to finance a budget deficit

HERTY ST AR HaT gauier arslt - e onfor amfores fer/ 3%



Q)

2)

3)

3)

8)

4)

SR T URafld feean ST, TET aRydl SR AR a1g 9hd SR ...
37) T RIS RN SRFeled] ! fhid aree.

) T TN TReb aqa ! febHd dreedl.

&%) I TP St 3Mg 3MIfoT UTgepid IU= areel.

) o fohma ol ST,

Tt S :

q) (31) SMfdr (3) weh R (1), () M (F) 3) (31), (F) M0 (8) ) (31), (3), (@), (¥)
Other things remaining unchanged, market demand for a good might increase if .........

a) price of its substitute increases

b) price of its complement increases

c) the good is an inferior good and income of the consumers increases

d) its price falls

Answer Options :

1) (a) and (d) only 2) (a), (b) and (c) 3) (a), (¢) and (d) 4) (a), (b), (¢), (d)

AP Pleld Wielleld! DI T /R0 YR dicesredr fhaatary aRumT ed gld ?

) AT MRS febHct ¥) IRPRAT AR

%) ARHRAT ATST ) UTEd I

Gleflel PIg I IR IR geT

9) heh 3, § AMMOT S Q) 31, B 3T S Beh 3) § 30 P Heh ¥) 3T, §, & 3N

Which of the following factors/policies were affecting the price of rice in India in the recent
past?

a) Minimum Support Price b) Government’s trading

¢) Government’s stockpiling d) Consumer subsidies

Select the correct answer using the code given below:

1)a, banddonly 2) a,c and d only 3)b and c only 4)a,b,candd

AR SR FeHid, fSHTs —Jal Ieare @lelieid! BeATges &8ss b ?

31) fodRIHS &R ) fofr oo
&) HENMS-SSfRAT A9 §) I HaRh 3) IV TSR
Tt SR

9) 31, §, P, SIAMIS )31, 9, SAMTHh 3)d, HIAMSHRh  ¥) d, S AN S Heh
With reference to Indian economy, demand-pull inflation can be caused/increased by which of

the following?
a) Expansionary policies b) Fiscal stimulus
c¢) Inflation-indexing wages d) Higher purchasing power

e) Rising interest rates
Answer options :
1)a,b,c,dande 2)a,b,d and e only 3)b,cand d only 4)b,d and e only
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4)

5)

&)

6)

7)

<)

Tefiedeh! PIUTH TeAT Fald STR< HgRITs AIQaUa BRUMT SRUATT SR 3R ?
q) AESID PorEl TRAhsS

R) NPT T W PIGUARNAIS STcIhgd Dol 8ol

3) SRIRART g HRo PIGUIRITS! g ol bof

8) SRIIHRI ¢ FRUANIC! di derret e

Which one of the following is likely to be the most inflationary in its effects?
1) Repayment of public debt

2) Borrowing from the public to finance a budget deficit

3) Borrowing from the banks to finance a budget deficit

4) Creation of new money to finance a budget deficit

feeter PIg AT Frae SR Fasr.

9) (31) Teh R)-(31). 31T () wh  3) (31), (3) MU (P) ) () M (F) Fch
A rise in general level of prices maybe caused by ............

a) an increase in the money supply

b) a decrease in the aggregate level of output

¢) in increase in the effective demand

Select the connect answer using the codes given below.
1) (a) only 2) (a)and (b)only 3)(a), (b)and (c) 4)(b) and (c) only

TR X1 UG BIUINT dTe PIeldesl //a¥T gthac '/ ol BT o= /a7 Sthae ' U 1 ?
q) fieprean ThuFIge QRacHTdiel g HHaRaan & URUM 3R

R) A 3R aTeges AFiidet ardaT & aRem 3fe

3) B FERTIS SR TUHER Arfier qufear fopediean araestar Ima ofe

8) 7 AT R feelel g (), (R) 30T (3) JihT Plukial Wb AU sRIsR el

A rapid increase in the rate of inflation is sometimes attributed to the “base effect”. What is “base
effect” ?

1) It 1s the impact of drastic deficiency in supply due to failure of crops

2) It is the impact of the surge in demand due to rapid economic growth

3) It is the impact of the price levels of previous year on the calculation of inflation rate

4) None of the statements (1), (2) and (3) given above is correct in this context

Grefid faum foaRra &

37) HENTSH® BoIGRIT HRIGT gl

9) HENTSH® IRIURBHT HRIGT Bl

iU DI fIem SRR 31/ 31 ?

9) (31) Bh ) () Bh

3) (1) 3mfor (9) adr 8) (37) fbar (@) S=drel Tl
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)

1)

Q)

2)

3)

3)

Consider the following statements :

a) Inflation benefits the debtors.

b) Inflation benefits the bondholders.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) Herms - AT, Su
IR, TS FRIfT oo fhd fRR 3avamd! Wiefierid! HIv SIaTeeR 318 ?
9) UTedh TAER faumr Q) T IR IR
3) i fRRAT 3T gy uReg Q) ARG e §b
In India, which one of the following is responsible for maintaining price stability by controlling
inflation ?
1) Department of Consumer Affairs
2) Expenditure Management Commission

3) Financial Stability and Development Council
4) Reserve Bank of India

TR rfcgaRedr Feyid Wielledd! Dot faem SRR amed ?

37) HENTS WY SR 3eaRd, eI 9 it 3fear (RBI) ARPRI IR WRGT .

¥) SR 9T SUTCTH E¥RT 3T d¥ RBI gR INIRIA il fashilt erarrdm aRad

&) SR TN febar FRITITT FFa-mefid @eieR Aol TR o RBI ol SioR @Xal PRUIN Had .

Tt W :

q) (31 ST (3) B R) () 3TN () Feh  3) (3) 37N (D) Db 8) (), (%) 3or ()

With reference to the Indian economy, consider the following statements :

a) If the inflation is too high, Reserve Bank of India (RBI) is likely to buy government securities.

b) If the rupee is rapidly depreciating, RBI is likely to sell dollars in the market.

c) If interest rates in the USA or European Union were to fall, that is likely to induce RBI to buy
dollars.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

AT IR T ThhRIaefiR Ararer Jadr Suard sTeft 31e

q) 3R TSt dfse Afich

3) Pt @ anfor fmeia o

3) UU 3IfOr RIS oo, PNl HAe™

) P I UuH Al

The Fair and Remunerative Price of Sugarcane is approved by the
1) Cabinet Committee on Economic Affairs

2) Commission for Agricultural Costs and Prices

3) Directorate of Marketing and Inspection, Ministry of Agriculture
4) Agricultural Produce Marketing Committee
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8) HRCR 37 AgHewNel SFAUTITE 3MRieh fhwd AT SRy fhAa ST 91T (3R Add=T
feeter e ... 3.
9) theh dED Ed Q) Heh &N &
3) @ uRifiiep 3for feRor @ 8) WA AFERD AT M Yo
4)  The economic cost of food grains to the Food Corporation of India is Minimum Support Price
and bonus (if any) paid to the farmers plus ........
1) transportation cost only
2) interest cost only
3) procurement incidentals and distribution cost
4) procurement incidentals and charges for godowns

y) SR AR IR ARBRA ST Ahd et 3R TR ..
q) e fdhd g .
3) el S gefe el ST
3) Ui AT IUTGRAT HTedhidhgr R HRUTRIT Aldbichs SXIING et Sk
8) i AT ST UTgehichg] ARDRDS TN heil Sl
5) Ifacommodity is provided free to the public by the Government, then
1) The opportunity cost is zero.
2) The opportunity cost is ignored.
3) The opportunity cost is transferred from the consumers of the product to the tax- paying

public.
4) The opportunity cost is transferred from the consumers of the product to the Government.

q99) AT fa 3for faxii W1 - IR, o, fORig 9Ru

q) facita GRoT - =y TN, HEHST WL — Sav, ACad / HRoR HENS , BRIV, TRGUROT AT
) AP - UHR, HHER AR , TR f¥idhed, AdSIfD @

3) XISTRNIT YR ISTHNIT e - HhedHT, gera o, dg, a7 Rercd 93 Sushd

¥) YRS g g ASATIS ATaST=eh 3801 —IHT 0T YR

4) T ATy TETINY&Tor

q) farftr elRor - fa STRINT, FREOTTer, BRGUROT AT

9) R o R fArhRefien e Juararar et @iefieridl wiv/3mRd ?
37) IR ST AT FRIATS! U SIS SMM0T TR SIS uTerelt Siiseiel WRUTg Udhol
) YRATAT APHRIIRAT ST SIS Jeidt ggl asfa ol Are=rear Mffdad! fesms
P) ol T fAfdTE drer wRfd TR e U <o
gl IR :
q) (1) 3mfor (3) b 2) (31) 3T () 3) (@) afor () 8) (31), (9) 3T (@)
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Q)

2)

3)

3)

8)

Which of the following is/are among the noticeable features of the recommendations of the

Thirteenth Finance Commission?

a) Adesign for the Goods and Services Tax, and a compensation package linked to adherence to
the proposed design

b) A design for the creation of lakhs of jobs in the next ten years in consonance with India’s
demographic dividend

c) Devolution of a specified share of central taxes to local bodies as grants

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TSI I RN TFeHTd, Wiefleiidh! Pivr fIer sRIsR 31e /31 ?

37) A bard 9T Yermellel AT alel 3R CHAIiad ¥R T el 37Te
) I &F-ffer sreHEEd RpReft bedr med

qgift S
q) (37) Beh ?) (3) Fh
3) (31) iy (9) el 8) (1) fobar (3) SErEr At

With Reference to the Fourteenth Finance Commission, which of the following statements is/
are correct?

a) It has increased the share of States in the central divisible pool from 32 percent to 42 percent
b) It has made recommendations concerning sector-specific grants

Select the correct answer using the code given below.

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ATl PIort  Jouaftiaq a1’ 3 A =2

q) & PR BRI T Fg-fog Teied—3meRe Joureft 3e

R) & SHTGT-AaRu ARER el FIaRTeAT HDh CUATAR JIAUATaR SAhRAT SUIRT IR 3.

3) T ¥ fohaT | SifcH aTRIERIA R 3ATE M7 dl ac! ATgehld Iaetall dTfgs.

8) T gD g ARPRAT A8 3ATg 3TN I ARBR AT AR SHATSUIATST haos JAUR 3.

Which one of the following is not a feature of “Value Added Tax™ ?

1) It is a multi-point destination-based system of taxation

2) It1is a tax levied on value addition at each stage of transaction in the production-distribution
chain

3) Itis a tax on the final consumption of goods or services and must ultimately be borne by the
consumer

4) It 1s basically a subject of the Central Government and the State Governments are only a
facilitator for its successful implementation

GST (o 3Nfor JaT ) 3ichi WTeferidh! PHIoTT aR<T I TN 3Tl 318 ?

31) JUIUT gerdett ¥) frrp 37t farctderal

&) UfHAT Pelel M T Potelr TR $) SR A SRielel aeHTTo
Tt SR

q) (31) 3for (&) weh R) (31), (9) 3nfor ()

3) (31), (@) 3nfor () 8) (31), (4), (P) 3for ()
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4)

5)

&)

6)

9)

Which of the following items is/are exempt under GST (Goods and Services Tax)?

a) Cereal grains hulled b) Chicken eggs cooked

c¢) Fish processed and canned d) Newspapers containing advertising material
Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (b) and (d) 4) (), (b), (¢), (d)

"qRL_ M7 aT IR (GST)' AR FRUIT FaTfIh FHI HIIS DT /378 ?

37) 8 TPhIRIh UTIhRUNGR MedT doetcdT UehTfiIds Rl STRTT Biget STTfOT 3121 UehR Udhd JToTR daR ae.

) I HRATE ‘TRC IPISC ShRIC HIGAT HHIVIT HHT gleet STTOT URehIT TeTaT ATST areadT Jsdl.

P) O YRATAT IR drg IO FBRAMT TS dle el A0 oiidrear Jiasad di=erm Jmr
CIPUIT HEH e,

Tt S :

9) (31) Th R) () 3o (4) wh  3) (31), () 3O (P) %) () M (F) Feh

What is/are the most likely advantages of implementing ‘Goods and Services Tax (GST)’?

a) It will replace multiple taxes collected by multiple authorities and will thus create a single
market in India.

b) It will drastically reduce the ‘Current Account Deficit’ of India and will enable it to increase
its foreign exchange reserves.

c) It will enormously increase the growth and size of economy of India and will enable it to
overtake China in the near future.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

JfTaRA TRRITGR 3R PeicdT TS SexId JaieR &% THMIPROT IR ATTUITAT R ok

Heyid, Eefieidd! PIvR faem SRS 3R/ 3fTed ?

37) Al IR HRIEET b HFT U ¥R hedl 3.

q) SrfTarft | ST HRATT SHfeRia Hal Sdld o el Hob S2MTd Gexl R TTBU HRR i IR shfscal
AT P T,

IR SR :

q) (31) weh R) (@) &b 3) () 3for (9) A= %) (3) fobar (3) QI A

With reference to India’s decision to levy an equalization tax of 6% on online advertisement

services offered by non-resident entities, which of the following statements is/are correct?

a) Itisintroduced as a part of the Income Tax Act.

b) Non-resident entities that offer advertisement services in India can claim a tax credit in their
home country under the “Double Taxation Avoidance Agreements”.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HRATe ree Yo Ffidrar @refierieh! o IR ART TRARAT K I BHROT 318 ?
q) RareT gece WS 3nfr Saert Tefmiv Hed aaue FRuITTS! FTeH Jeaut

Q) IFUIED HIHALY Aaueh M1 Hiewd™ s, qfF, AH 3. @Ra,

3) SISTEhIT eI HIGAT QURT AT TefRrehal dreut

8) PRIDANRIGeS AT IR AEGerTd Teh<a.
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<)

8)

)

1)

Q)

Which one of the following effects of creation of black money in India has been the main cause
of worry to the Government of India?

1) Diversion of resources to the purchase of real estate and investment in luxury housing

2) Investment in unproductive activities and purchase of precious stones, jewellery, gold, etc.
3) Large donations to political parties and growth of regionalism

4) Loss of revenue to the State Exchequer due to tax evasion.

CYURT WG PRAMT Jral el hia & ... 3TTe.
9) g ARDPRA ATCeAdT FX.

Q) Bg ARBRA ACAT YUT I ARBRA M Petedl PR,

3) I APRA cATGelel] U g TRPREDgGT IReT dbotell IR,
Q) Y ARBRA ATGeAAT INOT MedT dretedT B,

The sales tax you pay while purchasing a toothpasteisa...........

1) tax imposed by the Central Government.

2) tax imposed by the Central Government but collected by the State Government.
3) tax imposed by the State Government but collected by the Central Government.
4) tax imposed and collected by the State Government.

R) 31RIhed — YPBR, BMHIER TR, YRATUIRT RIhed, ASTHD T

IRT TRPR] Higdel FHHeITd Wlefierid! HIurd FHIIE 3 /et 378 2

3) X, AR, el el HeTEed] iR el .

9) et TRpRiwgT ABTret Tt

&) I AT DeMRIT TS fSeietl Pt arfor srw

gt SR :

q) (@) ST () Bh ) (31), () M (F) 3) () Fh 8) (37) rfor ()
Which of the following is/are included in the capital budget of the Government of India?
a) Expenditure on acquisition of assets like roads, buildings, machinery, etc.

b) Loans received from foreign governments

c¢) Loans and advances granted to the States and Union Territories

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

Uiy |ad qerar JeRkided 3ME. ¢ PHI PRUIRITS! TRBPR WletieTdehl PIuTt gl s STapd ?

37) Hegell @d HHT ol ¥) T HATDBRT AT AR TR0
P) RIS ThaTd DHRoT g) ST foRaR ROy

Gleflel DI aIe A IR ae.

9) (37) 3Mfr () weh R) (&) 3Mfr () ek

3) (31) Bh 8) (31), (), () for ()
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3)

3)

8)

4)

)

There has been a persistent deficit budget year after year. Which of the following actions can be
taken by the government to reduce the deficit?

a) Reducing revenue expenditure b) Introducing new welfare schemes

c) Rationalizing subsidies d) Expanding industries

Select the correct answer using the code given below.

1) (a) and (b) 2) (b) and (c) only 3) (a) only 4) (a), (b), (c) and (d)

Uy AAd geraT JeRided 317, JC PHH! PRUIRIIC! FRBR WletieTdeh! PIurd il /il s 2Tehl 2

37) Hegell @d HHT ol ¥) T HATBRT AT AR TR0
P) RIS ThaTd DHRor ) 3T e PHT PO
Tt SR

q) (31) ST (3) Hh ) (1) AT () 3) (@) snfor () 8) (31), (3) amfor ()
There has been a persistent deficit budget year after year. Which action/actions of the following
can be taken by the Government to reduce the deficit?

a) Reducing revenue expenditure b) Introducing new welfare schemes

c) Rationalizing subsidies d) Reducing import duty

Answer Options :

1) (a) and (b) only 2)(a)and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

P arefideTTeaT HaHid, Wiefleldeh! PRt ASHIGR GafHfe FHIfE ST /3 ?

37) ERe @ ) N b $) TR M0 02 S) FaRw!

Tt S :

9) (31) ST (F) Bch  R)(3), () SM(P) 3) (3N), (B) 3 (8) ) (30), (@), (F), (3)
With reference to Union Budget, which of the following is/are covered under Non-Plan
Expenditure?

a) Defence expenditure b) Interest payments

c¢) Salaries and pensions d) Subsidies

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

3) ST GHRUM, IISTRINT e, Jerdt =01, g g Rered dod SusrA

gTefter faum faaRmT &

31) forflar SraTeeRY onfr sreRidhed egawents (FRBM) TRdeic Aficliedr Sgaia™ 033 wid
AT (THAT) TRBRATS! 0% ot 37T GDP UK RIPRH et Mg, SR g FRBIRATS!
¥o% 30T o ARBRATS! 0% IR,

q) I IRERAT 7371 AT ¥% T e g, IRepRAl GDP =T 9% QI ST ATl

%) HRATAT ISTICHIAR, TETE JISITeAT T YSTAR PIUIIE! haTeh! SRR DIUIIE! ol SHRUIRATS
e IRPRI FHAT T TUTPRE 3R,

RITDT PIvT I RISk 3R/ 38 ?

q) (1) 3T (9) ®h ) (3r) 3N () 3) () 3nfor (@) 8) (31), (9) 3or ()
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Q)

2)

)

1)

Q)

2)

Consider the following statements:

a) The Fiscal Responsibility and Budget Management (FRBM) Review Committee Report has
recommended a debt to GDP ratio of 60% for the general (combined) government by 2023,
comprising 40% for the Central Government and 20% for the State Government.

b) The Central Government has domestic liabilities of 21% of GDP as compared to that of 49%
of GDP of the State Government.

¢) As per the Constitution of India, it is mandatory for a State to take the Central Government’s
consent for raising any loan if the former owes any outstanding liabilities to the letter.

Which of the statements given above is/are correct?

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
ARA, ¢ RGRAaT ... ST FATU SHRUIRATGH AToReAT STl

9) SR 3) AT P g

3) Ue Rrge THRIRT =l 8) facelt @t Pt F=u

In India, deficit financing is used for raising resources for ............

1) economic development 2) redemption of public debt

3) adjusting the balance of payments 4) reducing the foreign debt

¥) YRS e T IS ATGSTDh 3BT — I T R

CISICRERIERCEIN R
37) WRAIdlel Sgdiel STel &ot ¢ IRDRI ARATHS 3.
9) YRAT | IR Pol I SIeRAL 3T,

RSB PIvT T sRISR 312/ 372 ?
9) (37) Heh R) (¥) Hh
3) arer (1) 37fr () 8) argrel (af) febar (@) el

Consider the following statements:

a) Most of India’s external debt is owed by governmental entities.

b) All of India’s external debt is denominated in US dollars.

Which of the statements given above is / are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR areferaveedr Hewid Wieflerdd! HIurd e sRIsR 3md ?

37) ERIT s Fadtar o R SRR IFTARATS e,

q) fofermard SeR-TEfia XM SR deied fiHifad RagReist a1 sfaria deiiar T HieT S ST,
qift S :

9) (31) Bh Q) (d) &h

3) (ar) 3nfor (3) Q= 8) (3r) fobar (&) el A

With reference to the Indian economy, which of the following statements are correct?

a) A share of the household financial savings goes towards government borrowings.

b) Dated securities issued at market-related rates in auctions form a large component of internal
debt.
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)

1)
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2)

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

) oiET 3T oRgTaN&oT

q3) faeeht =R 3nfor sria=T Yisad goass

faeft AR - FpeusT, FaERAOI®, AURAY g fAeh T Arer

ST SATIR WEEAT — aXga!, YU MO YR srfarawda’ic smufara aRum, ues g aaw
WRATT ITARRTHIT ATIRT {221, SMHRAT T AT

YR SRR AR 8Ror, Rafddie ae

WS [ - ATARIEIT AR fageh visaesran siavarg, Fa-1d are,

TEITTRRIER HTSTS GRIAUTAT AT — HRATHUE, STHIIED S, SIS HSIT XShT

q) faesh FUR - Heheu T, FIERAIS, ANRAY g faeeht T+ A

TPIONNATRT I def T ST TReell AR HRART foctell He & srRfeaw=ar g8, ...........
9) frafa Q) ImTd 3) IATeH ) ST

In terms of economy, the visit by foreign nationals to witness the XIX Common Wealth Games in
India amounted to ...........

1) Export 2) Import 3) Production 4) Consumption

"I P}’ AT G WTeAlerded! I Faiad ol axd, S defieedt armrme uifger S ?

q) B SATT THUT SeMTeria Sereft SaTeiean Jear oM 318

R) § T auiclier SaTedT STl ThT Je 3R

3) ® O et Fafd gewr anfdr e arearier TUIRR 3R

) AT ACRRTET IR IPIgR et Azl TRt deft SR 9Taha

Which of the following best describes the term ‘import cover’, sometimes seen in the news?
1) It is the ratio of value of imports to the Gross Domestic Product of a country

2) It is the total value of imports of a country in a year

3) It is the ratio between the value of exports and that of imports between two countries
4) It is the number of months of imports that could be paid for by a country’s international reserves
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3)

3)

4)

4)

5)

&)

6)

RgTefierieh! DI Higddl Wil s+ ?

31) faceft ot 9) ¢ WO [dauh  P) @erT e ) UICHhIferall JTauh
qift S :

q) (31) 3T (3) deh Q) (3N) 3N (F) b 3) (F), (&) MM (3) ) (3), () MMM ()
Which of the following constitute Capital Account?

a) Foreign Loans b) Foreign Direct Investment

c¢) Private Remittances d) Portfolio Investment

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b) and (d)

AR WRehRI T ASITE WeHIcTieh! PIURT aRdT FHET Bl ?

9) WP T AT, WA Fo I3 (THSIITR) 3MMfOT RSl ier ot

R) WP T WoRil, RBI o7 SDR = A gifeswd

3) W I AU, ST chepgd ot ST I8

8) WD T HUTH, ARSI A SN SIATTD dehehgd o,

Which one of the following groups of items is included in Indian’s foreign exchange reserves?
1) Foreign-currency assets, Special Drawing Rights (SDRs) and loans from foreign countries.
2) Foreign-currency assets, gold holdings of the RBI and SDRs

3) Foreign-currency assets, loans from the World Bank and SDRs

4) Foreign-currency assets, gold holdings of the RBI and loans from the World Bank.

Qo UHE 9 B e Il ggaefR Alg 3.

9) feerean dremaelid, ATUROYT JERTE S |4 IR T fFafd 2agR.

Q) JYIRIT ST Yl deter ATt

3) Ul STt IRGRALe ga Semclier o agR

8) Ul ST Al QT WISl gerdret

The balance of payments of a country 1s a systematic record of ............

1) all import and export transactions of a country during a given period of time, normally a year.
2) goods exported from a country during a year

3) economic transaction between the government of one country to another

4) capital movement from one country to another

UHe JerFe] HeHid, I UHE, Wleflelid! BIur dle] @ a7 /afed & ?

31) IR FHdel ) faeft Ao
) G e 3) Ry Yafe aifteR
Tt SR

q) (1) ST (F) Hch ) () AT () 3) (31), (@) 3fr (3) ) (31), (3), (P), (¥)
With reference to Balance of Payment, which of Payments, which of following constitutes/
constitute the Current Accounts?

a) Balance of trade b) Foreign assets

c¢) Balance of invisibles d) Special Drawing Rights

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (a), (¢) and (d) 4) (a), (b), (¢c), (d)
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7)

<)

8)

R)

9)

)

JNCRRTERT IITRIT PIUATE Tt e ... GR Bdett ST

31) SIfcies dep 9) AT SAGR UG dheledl aw]/Aard Aol
P) GeRIT 29T IRBR FRRAT g) Qo 3nffen emdT USHId 3R
gl IR :

q) (31) &fr (3) B ) () ST (D) BH  3) (3), (D) ;N (3) 8) (), (), (@), (3)
The price of any currency in international market is decided by the ..............

a) World Bank

b) demand for goods/services provided by the country concerned

c) stability of the government of the concerned country

d) economic potential of the country in question

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

PO aRacHII R R

9) JUITAT AT AT BUTART PO e 3RA0T

Q) PRI oI INIRICHE rhigR Hfeea exuaret wRarit <or

3) U SR FHEY BUIGR HRUIRT Tehyo! TR o7 31T sete

¥) YRS TS STARTERT JTRUS fAhRIT FHor

Convertibility of rupee implies:

1) being able to convert rupee notes into gold

2) allowing the value of rupee to be fixed by market forces

3) freely permitting the conversion of rupee to other currencies and vice versa
4) developing an international market for currencies in India

IMARRTERT TR TR oY SFUetetidl [efei ame

9) o ST el 3) R e =i

3) SleR 3 TR 8le T ¥) Frafa axvaRR ity
The problem of international liquidity is related to the non-availability of
1) goods and services 2) gold and silver

3) dollars and other hard currencies 4) exportable surplus

?) SIRIfI AR HHeHT — aRga!, WRH rfeaedea’is IR

greiid faum R &

37) ARAH WTO =T IR FeAHa0 axRIeT (TFA) Fiar fSeft .

¥) TFA 8 WTO =7 sTefl §ERaRiT YdbordT U T 3T

&) TFA STHaRMed oR] 3TTeT

RITDT PIvT I RIS 32/ 38 ?

q) (31) 3for (9) ek R) (3N) 3T () 3) (@) afor () 8) (31), () 3T (@)
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2)

)

1)

Q)

2)

Consider the following statements:

a) India has ratified the Trade Facilitation Agreement (TFA) of WTO.

b) TFA is a part of WTO’s Bali Ministerial Package of

¢) TFA came into force in January

Which of the statements given above is/are correct?

1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

MR- JAauep U (TRIMS) =T HeHid, Teletdeh! PIurd A sRIsR 31Te/3Med ?
37) faqelt AaupeRIpgT TR URATUIED ey UfeRid amed.

q) d Y 3MM0T [T A7 Sremeiicl R Fefe Jaaue SURIFT @i 2.

) d URQelt Jauhrear Ml Fefid TR,

GTeflel Pl I g IR e

9) Wheh 37 3MUT § ) Bh § 3) 37 37T P Heh ¥) o, § 3 &
With reference to Trade-Related Investment Measures (TRIMS), which of the following statements
1s/are correct ?

a) Quantitative restrictions on imports by foreign investors are prohibited.

b) They apply to investment measures related to trade in both goods and services.

c) They are not concerned with the regulation of foreign investment.

Select the correct answer using the code given below :

1)aand b only 2) b only 3)aand c only 4)a,bandc

3) YR RIS AR 2911, SPRAM g =T

greiid A foaRa &
31) ITRATT PeiedT WIEIAR JHT0T 1] U duid eIl S2liaiid STeTIeT STR 378,

q) eI 919 U ST Poled A QIR FRBR DIUCTal HHIeD Aled A,
RITDT PIvrT I sRISR 3R /318 ?

9) (31) Bh Q) (@) wh  3) () M (%) A ) () fobar (9) T AR

Consider the following statements:

a) The quantity of imported edible oils is more than the domestic production of edible oils in the
last five years.

b) The Government does not impose any customs duty on all the imported edible oils as a special
case.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

XaTefierid, Teur urg aufd Scler Hafd Aot diges FRIfd TROMRT Q9T BIvrT 3R ?

9) == Q) URd 3) ”MER g) feguerm
Among the following, which one is the largest exporter of rice in the world in the last five years?
1) China 2) India 3) Myanmar 4) Vietnam
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3)

3)

8)

4)

4)

5)

YR HeHld, Wielielieh! DU e dof Feheral Uil PH! PRUIRIS! TNEM SUR/ ANEH SUTR
3TeeT ?

31) YRATAT RIS AR Wb T HHTS

¥) IRPR Taid a1

) RS ARAITehg UIede SR 4

GTetlel PIS A AT IR faer.

q) (1) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()
In the context of India, which of the following factors is/are contributor/ contributors to reducing
the risk of a currency crisis?

a) The foreign currency earnings of India’s I'T sector

b) Increasing the government expenditure

¢) Remittances from Indians abroad

Select the correct answer using the code given below.
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

T HRATA] ARG ATIRTEAT Fedid, Wieflelid! PIur U aRIeR 318 /378 ?

31) YRART AR JreArl faid e MR AT T ve BHl 3.

) siferrsaar aufd YRAR i 3T diae, ARE, W IO TR TRt et Smeft 3.

®) YRA Jart fald g e Haren JRITCUeT SR 37T

) ARATET YR TR /FTe], WiAwie ¢ ITe.

Tt PIS Ao I IR Faer:

9) Wheh 37 30T § ) Tth § 3T S 3) & Bh ¥) 3, P 3T § Feh

With reference to the international trade of India at present, which of the following statements 1s/

are correct?

a) India’s merchandise exports are less than its merchandise imports.

b) India’s imports of iron and steel, chemicals, fertilisers and machinery have decreased in recent
years.

¢) India’s exports of services ye more than its imports of services.

d) India suffers from an overall trade/current account deficit.

Select the correct answer using the code given below :

1)aandb only 2)band d only 3) c only 4)a, cand d only

CIICRERIERCEINC R

37) T GBI TRA-Sfeie! AR Je A dlgel 3.

g HRA AT JRATGET TS ATARTATA I 3TVT TSN I & Hgwdrdl geeh 3.

%) N Ur aufd TS & G307 JMfARTcieT YRArT Haid Ao TuRT YrficR 31,

RieTIeh! DIV UM TR 318 /38 ?

9) Wheh 37 3MUT § Q) Bh § 3) & Bh ¥) o, § 3 &
Consider the following statements :

a) The value of Indo-Sri Lanka trade has consistently increased in the last decade.

b) “Textile and textile articles” constitute an important item of the trade between India and

Bangladesh.
c¢) In the last five years, Nepal has been the largest trading partner of India in South Asia.
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6)

)

1)

)

2)

Which of the statements given above is/are correct ?
I)aandb only 2) b only 3) c only 4)a,bandc

NRAT SUITN GARUT ATTGUITATS] Wletleldeh! DI SURT IRBR /IR B A8 ?
q) SATIRID RN TR 3iGeT SAo—fT Frafefier e <or

R) WRAT POIGRAT BT T HATAT 18 STRI PROIRATS! Ul ol

3) 9T AR ot Huael FEfRd 1St T ol

¥) foRaRIHD 3Mfies RO UTet vy

Which one of the following is not the most likely measure the Government/RBI takes to stop the

slide of Indian rupee?

1) Curbing imports of non-essential goods-and promoting exports

2) Encouraging Indian borrowers to issue rupee denominated Masala Bonds
3) Easing conditions relating to external commercial borrowing

4) Following an expansionary monetary policy

) TR FURME YR, Faid are, arefirs 3nfefs daart dae

IRPBR DIUT Pl B b Il TR T

37) QeTicHid o STaHedH

q) R SEMTT BuTd

%) FDI 37for Flls GR 3ifRrep Feft amepfia eum 3fies giRon

RIeTDT DIV Gt /Pelt ATl WA JC DBHI PRUTTT Hd o el 2

9) (ar) amfdr () o R) (81) <fvr () 3).(3) smfor (<5) 8) (31), (¥) T ()
Consider the following actions which the Government can take ;

a) Devaluing the domestic currency.

b) Reduction in the export subsidy,

c¢) Adopting suitable policies which attract greater FDI and more funds from Fits.

Which of the above action/actions can help in reducing the current account deficit?
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

T JGHIHTAT TR 3RAT Bldl &l 0 SARERITU........

37) et RIS Seriertar il i gURd

9) Serieria ger el e ared

) AR A FUR

Tt S :

q) (1) wh ?) (a1) smfor () 3) () snfor () 8) (31), (3) 3nfor ()
The effect of devaluation of a currency is that it necessarily ............

a) improves the competitiveness of the domestic exports in the foreign markets

b) increases the foreign value of domestic currency

¢) improves the trade balance

Answer Options :
1) (a) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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3)

3)

4)

4)

5)

)

6)

"ITRfRIeh Qe 3R YRMIGRY &1 2reg IITaa] ST IT A SAaed] STUMIT STl FHgral
9) G20 R) IR 3) SCO ) Heh
The term ‘Regional Comprehensive Economic Partnership’ often appears in the news in the context

of the affairs of a group of countries known as
1) G20 2) ASEAN 3)SCO 4)SAARC

Greflel fau™ foaRma &
31) TN T dord! ¥AT APEC R aRudTd 3fTel! 3TTe.
9) = SEATHC Shd TRATSRT AR I 3.

RITUD! v e sRIsR 31/ 37 ?
9) (31) Heh R) (¥) wch
3) (31) iy (9) <zl 8) (1) fobar (3) SEIEr ATt

Consider the following statements :

a) New Development Bank has been set up by APEC.

b) The headquarters of New Development Bank is in Shanghai.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

'STe-9%S o8 3f8 graavcHe e (BTIA)' & URd IO UR I Sl IcTardiean dAeuid et
Heft T Tfet ST

9) R AR R) Th PIARI Difiet

3) 3 FgpR 3T A RIS HereT ) IR PIFRIA IR

‘Broad-based Trade and Investment Agreement (BTIA)’ is sometimes seen in the news in the
context of negotiations held between India and

1) European Union

2) Gulf Cooperation Council

3) Organization for Economic Cooperation and Development

4) Shanghai Cooperation Organization

"G20 BT HHad ' T AeHId, Wielldd fau™ faaRmT &

37) 1 URE Foteg G20 7 AR dhelell SUsh 37Te.

9) PH IUT 3RTeiedT AT e polikig TIfSeT SvaraTSiaT &1 T SUshH 31T

R P M sRIeR 3med ?

q) (31) &b ?) (9) &b 3) (3n) amfor (@) &l 8) (1) fobar (9) et At

With reference to the “G20 Common Framework™, consider the following statements:
a) It is an initiative endorsed by the G20 together with the Paris Club.

b) It is an initiative to support Low Income Countries with unsustainable debt.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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Y) TR AU — RIS AR fAgeht Hisaaran sidquars, &1 9 a6

q)  Wellefdd! PO TRAT A WX Jaguihrar THaeT 3R ?

31) AR Reeft U= SuhT

9) ARG PUHE dgaed et sfedt ifest

&) P W2l Hu! fRasT el buwT

) UICHhIferall daud

Tt S :

q) (81) ST (9) B ) (31), (@) M ()  3) (30), (@) 3 () %) (30), (@), (), (3)
1)  Which of the following would include Foreign Direct Investment in India?

a) Subsidiaries of foreign companies in India

b) Majority foreign equity holding in Indian companies

¢) Companies exclusively financed by foreign companies

d) Portfolio investment
Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

)  WRAKNE AT WehIg Aau[hIeaT HeHid, Wiefieih! DIv & e Ael S 2
q) g oI g DUHMEN Hitce IUPRUNGR dhetel! [dauh 3.
R) ¢ T=I@ Poi-faRfgd Wisadl HaTg v .
3) 2 AU 3 AL dol—HaT FHIIE 3.
8) & gl FeRmId aavEeRHT TRART IRSTHE Petelt Jaaus S
2)  With reference to Foreign Direct Investmentin India, which one of the following is considered
its maior characteristie ?
1) It is the investment through capitol instruments essentially in a listed company.

2) Itis largely non-debt creating capital flow.
3) It is the investment which involves debt-servicing.

4) It is the investment made by foreign institutional investors in the Government securities.

3) 9T IR aaus (FDI) S7fr faceft wemeie Jaauhar (FII) Qe <emiiel uehir aauebrelt Fefia
3MRd. Wil PIv fJu gemefieT Hew@mar BRdb golad ?
9) FII SUH oA i 30T dasT MU Hed dxd, d¥ FDI hdes Hisdel 3T
?) FII IR0 Hisdalr! SUTsdT aefduard ded dxd, ) FDI dhass fafdre &= oed ol

3) UhSISTRIET TaTE Hheh SEOH SNIRIA Idl, TR UHaATIRN HRIfieh SIRIeT a6 avd

) FII g FDI uer 31f¥iep RR AFel Sl

3) Both Foreign Direct Investment (FDI) and Foreign Institutional Investor (FII) are related to
investment in a country. Which one of the following statements best represents an important
difference between the two?

1) FII helps bring better management skills and technology, while FDI only brings in capital

2) FII helps in increasing capital availability in general, while FDI only targets specific sectors
3) FDI flows only into the secondary market, while FII targets primary market

4) FII is considered to be-more stable than FDI
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4)

4)

5)

&)

6)

Tefiedeh! BT I WRepRT YTAUEIT FTHAL el ST e ?

31) WRHT Tl IRaT IRG ) Pre g facelt AverHe aavdm
%) SIAIfe feurferes) araem g) arfardt yRdr s&r St
Tt SR

9) (o) amfor () w5 R) (1), (W) M (&) 3) (31), (&) M (3) %) (), (), (P) (3)
Which of the following can be included in Foreign Direct Investments?

a) Foreign currency convertible bonds

b) Foreign institutional investment with certain conditions

c¢) Global depository receipts

d) Non-resident external deposits

Answer Options :
1) (a) and (b) only 2) (a), (b) and (¢) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

RgTefietueh! ol faerm aRIeR 3ad ?
37) U thexal Relegd deeh M URuT Hisdel IV (capital flight)PRUTT &% 2@,
) Hisdel ST ¢ foem™ a8y ATasITRid @t (ECBs) SRTeicdl Shu=Iiedl TSl Wdid a1g &% .
&) AT e faed g ECBs ot Fafta g SIRdm dHT el
Tt S :
9) (3F) 3T () ek ) (F) M () Feh  3) (31) MO () v 8) (3), () 3N ()
Which of the statements given below are correct?
a) Tight monetary policy of US Federal Reserve could lead to capital flight.
b) Capital flight may increase the interest cost of firms with existing External Commercial
Borrowings (ECBs).
c¢) Devaluation of domestic currency decreases the currency risk associated with ECBs.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

HRATAT AT TRIRATEIHHE dictel fotel '/ ST SRIGRYI Wlefletueh! iurct TR ITH ThR

gfafdfea &= ?

9) AR P! TR N v el ST R FaehIcq BIUM=IT AHITeR Reef Qe - HRel.

?) facelt Sut WRATT [aav[es =l AT ferea FaUehicq BIUTRIT THRITER /=T 45 QaTd R Rl

3) U AR HU=t IR T AT @Ral BRd AT 377 AT Je dleedaR orat faght awd
3ATOr it epH YRATT RAING DRal.

8) TR PUHT AR TRIHR R ST 37T AR AT 4o (substantial value) g AT HRATN
T ITH I

Which one of the following situations best reflects “Indirect Transfers” often talked about in

media recently with reference to India?

1) An Indian company investing in a foreign enterprise and paying taxes to the foreign country on
the profits arising out of its investment

2) A foreign company investing in India and paying taxes to the country of its base on the profits
arising out of its investment

3) An Indian company purchases tangible assets in a foreign country and sells such assets after
their value increases and transfers the proceeds to India
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4) A foreign company transfers shares and such shares derive their substantial value from assets
located in India

©) 'IFC HaTel died’ <7 AeHid, Pleds] SIaRIged ulfdel S, Wiefiefdd! Pivr faem sRisR 3mg/
3T ?
31) SNTRTERT faa v, o 2 I SRR o, & STRIfce Sdod! Ueh 9TRaT 3TTR.
) O SHRIT-HAIR JISd AR ST AT TN WIS SFTATS! ot [TgRIST PRUIT A TR,
IR SR :
q) (31) Beh R) (3) b 3) () amfor (@) @l ) (3) febar (@) SIEiet AT

7)  With reference to ‘IFC Masala Bonds’, sometimes seen in the news, which of the statements
given below is/are correct?
a) The International Finance Corporation, which offers these bonds, is an arm of the World Bank.
b) They are the rupee-denominated bonds and are a source of debt financing for the public and
private sector.
Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

¢) Acuiipd facel dcHhIfersl aauheRT & Figult T PRAT AR QAR TRIRFET I B SBU=IT
R JAAUBGRIT WTeAlettch! DIoRT STRY el STt ?
9) 3T TEOES Q) FHHRRIS TR 3) YRR Aie ¥) UM Aig

8)  Which of the following is issued by registered foreign portfolio investors to overseas investors
who want to be part of the Indian stock market without registering themselves directly?
1) Certificate of Deposit 2) Commercial Paper
3) Promissory Note 4) Participatory Note

&) TEARRIEII HiSTe PRIUTAT TRAT — HRITHIS, SARTRISD 96, SHeIe YT
9)  IfAips, Wiefietdd! Pur Ter IMF a7 SDR &1 SRepheHEd AHIAE RuAmEl YRTd 3778 ?

9) A Q) & 3) YRR BuT ) T

1)  Recently, which one of the following currencies has been proposed to be added to the basket of
IMF’s SDR?
1) Rouble 2)Rand 3) Indian Rupee 4) Renminbi

) Mes @ (Rerg &) el ...

9) SINTfIes Sl @ot TuTTett Q) et ST BRI Th

3) WTO = fo=ar A feiett shfee R ) IMF gR AT T fetelt shfee Tomeft
2)  “Gold Tranche” (Reserve Tranche) refers to

1) A loan system of the World bank

2) One of the operations of a central bank

3) A credit system granted by WTO to its members

4) A credit system granted by IMF to its members
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3)

3)

8)

4)

4)

5)

&)

STRRIERT AOEfaTad, Wiefletdes! PIurd e aRIsR 3778 ?

9) ot PIVATE 2T Pt 3 ATt R) It Phdw fARRId <A Pt <% AT

3) oY ek Ty LT ol ) ot AT qeadl! dcpoll ol o> el
Regarding the International Monetary Fund, which one of the following statements is correct?
1) It can grant loans to any country

2) It can grant loans to only developed countries

3) It grants loans to only member countries

4) It can grant loans to the central bank of a country

Mg BRI g=gie il s e HIfT Wefietd Pl GvIgR @l Juarer argeaie
SEIBSECIC N

q) MR IPRT b

Q) INARTERT Arorfeft

3) TIRICE AT TRERImHT U BRI SH1Rgfeeg

) ST deh

“Rapid Financing Instrument” and “Rapid Credit Facility” are related to the provisions of lending
by which one of the following?

1) Asian Development Bank

2) International Monetary Fund

3) United Nations Environment Programme Finance Initiative
4) World Bank

SIS HiFeN! 818 BRI Hfel (IMFC) & dguid, Wiefter fau™ faRa =i

31) IMFC SITfcies 3refegaaiar g wRumdf fadea areiaR gt axd ST SRS Aoifedt (Tash

1 e BRI iR Fggt <.

q) S db Gash3 =T dodhimed FRierd Fgud 9RT o,

R DIV [TUM RIS 372/ 31 ?

q) (31) wh ?) () FH 3) (3n) 3nfor () Qe 8) (3F) fobar () el et

With reference to the International Monetary and Financial Committee (IMFC), consider the

following statements :

a) IMFC discusses matters of concern affecting the global economy, and advises the International
Monetary Fund (IMF) on the direction of its work.

b) The World Bank participates as observer in IMFC’s meetings.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

"RT R 3T Tifthe fAffen’ &1 916 PreidesT STaRImed a1 Aewid UTfeell STl

q) AL GG R AR HRTT TERIER UATGR WT0THH

R) IEIER DY PRYDPANRIAT AT B0

3) TSR PUITGR QAT ST FATUR 20T

¥) fIPRITHS Tdheurd RIS ST SHeTdSTaul) e T YaieRviy Wafer R 7 @xor

HERTY ST ANRY W1 QaRiem araft - anfefes st wmfors fawrt/ 4]
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The term ‘Base Erosion and Profit Shifting’ is sometimes seen in the news in the context of

1) mining operation by multinational companies in resource-rich but backward areas

2) curbing of the tax evasion by multinational companies

3) exploitation of genetic resources of a country by multinational companies

4) lack of consideration of environmental costs in the planning and implementation of
developmental projects

q3) ofhT — spfe arfor Jifest giferd

qegqd! dp- Reieg b
Hifge UIR0T T RS |1EE - Fe gRasT
JepT RTERfTeART
ot /UAYRASATAL YT, SfeT SATeies RO
YisaeraToTR, |dl g fAares

q) el b - ReE 9
TR R 9 ... T JEdid TG dprd fFm= axal
37) Al aReAdT ¥) omaT foRaR
®) Jopra fefieRur g) dapT 95 PR

WTetlel PIS AR AT IR fael.

q) (31) SMfT (3) B ) (81) I () Fh-3) (3), () &M (8) ) (), (), (@), (3)
The Reserve Bank of India regulates the commercial banks in matters of ............

a) liquidity of assets b) branch expansion

c) merger of banks d) winding-up of banks

Select the correct answer using the codes given below.
1) (a) and (b) only 2) (a) and (c) only 3) (b), (c) and (d) 4) (a), (b), (c), (d)

ARehT Reteg §& (RBI) da sdb TgUIT H e, ITAT 37 Wletietieh! pluTa 3R ?

37) 3R JhT ITAT 3T TREIIRIDS SadTe.

) SRR TR dob ATAATRID depivl ol <l

%) RBI &ORY §piqm 3ffes ardier Tgr <.

it S :

q) (@) smfr (&) weh ) (31), (F) M (®) 3) (F) Fh 8) (31) 3T ()

The Reserve Bank of India (RBI) acts as a bankers’ bank. This would imply which of the following?
a) Other banks retain their deposits with the RBI.

b) The RBI lends funds to the commercial banks in times of need.

c) The RBI advises the commercial banks on monetary matters.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

HERTE ISTUTT AR HaT qauRten |t - 3nfefas anfor wrfors fdem/ go
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'Bitcoins' &1 FeHid, wefierell srawaied ulfeet S, @iefleiidh! Pivr e sRisR 31/ 3med ?

31) AT Hegadf dbigR faedig—adr ArMar gdall STdl.

9) Bitcoin T 3RFelell PIofidl Bitcoin T 3RTeled] 3R DIVMEGT Bitcoins U13q. 37T TH &
T

&) IAelgT UHCH qel JIST GAITE! 3NeE 7 Sesdl ureadT A

i SR :

q) (1) wh R) (37) ofr (@) wh 3) (31), (@) 7 (F) ) () MO (F) Hh

With reference to ‘Bitcoins’, sometimes seen in the news, which of the following statements 1s/

are correct?

a) Bitcoins are tracked by the Central Banks of the countries.

b) Anyone with a Bitcoin address can send and receive Bitcoins from anyone else with a Bitcoin
address.

¢) Online payments can be sent without either side knowing the identity of the other.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

CIGICRCRIEREEING R

31) el YN BRI 31T sfear (NPCI) arciier anfies FHLMTAT Tl SUARITS! Hed .

) NPCI = 3U g $TS YHe e o dell 3.

RieTdeh! DIV fTUM aRIeR 318/ 3Med ?

q) (1) Hh ?) () wh 3) (a1) emfer () Qret 8) (3n) bt () el Tl

Consider the following statements:

a) National Payments Corporation of India (NPCI) helps in promoting financial inclusion in the
country.

b) NPCT has launched RuPay, a card payment scheme.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Glefietieh! PIur e BRIk Fifder dermrean siifd sreeh aui R ?

q) PRIR WU Yo JHIVINIS TRITIHE feielm ST

Q) YPIAT ITAT AT FUSRT PRUITAS! FBpRUIRT Fhl 318

3) b, guc, fdd SHith TaRFoT 3.

8) QAT oI SRIeT UTram 9T

Which one of the following statements correctly describes the meaning of legal tender money?
1) The money which is tendered in courts of law to defray the fee of legal cases

2) The money which a creditor is under compulsion to accept in settlement of his claims

3) The bank money in the form of cheques, drafts, bills of exchange, etc.

4) The metallic money in circulation in a country

RgTeAIeTdeh! I AR 1d ATMs T Siisdl ?
q) 3T da SR Q) “erel RigReIsT feutferest wafer
3) ToFTeT Udc BRI 3Mh sfear ) AR Rereg a9

HERTY ST AR HaT gauier arslt - e onfor amfores e/ €9
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Which one of the following links all the ATMs in India?
1) Indian Banks’ Association 2) National Securities Depository Limit
3) National Payments Corporation of India 4) Reserve Bank of India

CICICRERIERCEINC R

et <% o 3fear ‘U Ried e dggw Wl orefiediar der, Samen Ser fRace v
3ol ST, UHe RIveH TR SA1QeT Sald &1 ...

31) O g GAREd axdid 6 ARIAGR ATeidedn Somt dhe Riwenelt Jefid Fqul ScT dhde ARdTd e
RiecHaed Tmfed et Séel

) d GABET Rl D TuTTel! ATESId ST SUshHIeaT Hiekbrea ST Ilededt S 3MTed

P) T Polex JUTAT IRRNT YRATAT FRiFD 3T TeTeRdT TRieihT Thid Rived 3fifse srgare e
ERGICH

RieTdeh! DIV UM TR 318 /3 ?

9) (31) Th R) () amfor () &k 3) (31), () M (F) ) () MO (P) Fh
Consider the following statements:

The Reserve Bank of India’s recent directives relating to ‘Storage of Payment System Data’,
popularly known as data diktat, command the payment system providers that

a) they shall ensure that entire data relating to payment systems operated by them are stored in a
system only in India

b) they shall ensure that the systems are owned and operated by public sector enterprises

¢) they shall submit the consolidated system audit report to the Comptroller and Auditor General
of India by the end of the calendar year

Which of the statements given above is/are correct?
1) (a) only 2) (a)and (b) only 3) (a), (b)and (c¢) 4) (b) and (c) only

Jrel AT ol foHis fSuifsie WA 9,00,000 I AT BIGUN, FITIRAN THUT I

RAGITER @R IRUTH glge.
9) I PHH FRF? 9,00,000 R) 7 AEART ? 9,00,000
3) Y& SR dIedR—Id ? 9,000,000 3) O uRafia Sauarardt

If you withdraw t 1,00,000 in cash from your Demand Deposit Account at your bank, the immediate
effect on aggregate money supply in the economy will be
1) to reduce it by ? 1,00,000 2) to increase it by ? 1,00,000

3) to increase it by more than ? 1,00,000 4) to leave it unchanged

YR, Hegad! Sopd 'daear SUR’ TgUd B awul I Wleilefie! dHmar ey oo ?

37) YR IO ISR FLATT Pl QUI, Siegl I aR AIIehgd Dol HUIRT ugeft 3.

q) ARRAT AP ATISAT JBIHT TReA UG PR,

%) SRRidmedl qg TRUIRNIS! ARBRIAT FHof L.

gt SR :

9) (@) wH ?) (81) 3rfor () 3) () snfor () 8) (31), (3) amfor ()
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In India, the central bank’s function as the ‘lender of last resort’ usually refers to which of the
following?

a) Lending to trade and industry bodies when they fail to borrow from other sources.

b) Providing liquidity to the banks having a temporary crisis.

c¢) Lending to governments to finance budgetary deficits.

Answer Options :

1) (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

GTAIAUDT PO fIermeT /9 sRIER 3MR/3Med ?

37) WRcg Rereg dorear (RBI) Tegeivd! Fgehl o, SRR .

q) ST RIS, AR ITgedd Pl aRaar a1 RBI @1, 3 ARBReT eel SR o
IR <.

P) IR @Rl RS PRIAGR AT ATPR o5,

IR SR :

q) (31) ST (3) Hh ) (1) AT () 3) (@) snfor () 8) (31), (3) amfor ()

Which of the statements given below is/are correct ?

a) The Governor of the Reserve Bank of India (RBI) is appointed by the Central Government.

b) Certain provisions in the Constitution of India give the Central Government the right to issue
directions to the RBI in public interest.

¢) The Governor of the RBI draws his power from the RBI Act.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

‘Jo7 91€ &R’ (BBB) AT HgHfd, Wiefiedch! Hivrd e sRisR 37ed ?

37) RBI @ TR BBB o 37eg8 37T,

¥) BBB S &N depiior Wi Masme! RIeRA avd.

%) BBB Wi &TcieT ShiFT SR0T 3T Wigaer SHRUY IS fIpRid =i qed o,
qift W :

q) (1) 3T (3) Beh Q) () 3MOr (D) Wb 3) () MM (D) Beh ) (3), () MMM ()
With reference to the ‘Banks Board Bureau (BBB), which of the following statements are correct?
a) The Governor of RBI is the Chairman of BBB.

b) BBB recommends for the selection of heads for Public Sector Banks.

c) BBB helps the Public Sector Banks in developing strategies and capital raising plans.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

aRadHIT IR AHTd, Wielldt fau™ IR =

31) i) died) SaTurEETT aRUITET YA SRICIT™ URacH T died HT g TSl SdTd.

9) Sfrdmed FUART FRUITET Ta1T STUSURBIAT aTGe TTgenied] fhATIR SFIhHOIhT Uar &l
gl IR :

9) (31) Bh Q) (d) &h

3) (1) amfor () S 8) (37) fbar (@) S=drel Tl
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With reference to Convertible Bonds, consider the following statements :

a) As there is an option to exchange the bond for equity, Convertible Bonds pay a lower rate of
interest.

b) The option to convert to equity affords the bondholder a degree of indexation to rising consumer
prices.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

NRART 3refeyaverear Feuld, srRidM-ssavs diwed (IIBs) T RIS HRF 31Ted ?
q) 1B =1 HIEHIGT o HUIRIGHIT ARPR U & BHI o e,

R) SIS [TAUBERAT HERMSeAT JAARCAURT A& ST,

3) IIB &R IR 7T a9d Higdelt T =y HTal.

R PO U™ RISR 32 ?

9) (31) omfdr () weh ) (W) M (&) weh  3) (3N) MO (B) Beh  8) (3), (I) M (D)
With reference to the India economy, what are the advantages of “Inflation-Indexed Bonds (IIBs)”?
1) Government can reduce the coupon rates on its borrowing by way of IIBs.

2) IIBs provide protection to the investors from uncertainty regarding inflation.

3) The interest received as well as capital gains on IIBs are not taxable.

Which of the statements given above are correct?
1) (a) and (b) only 2) (b) and (c) only 3)(a) and (c) only 4) (a), (b) and (¢)

?) Hifd® ¢RUI g YA A8 — e RIS
AR Sreferev=a] AeHid, @letlel MEET AR T,

31) 9 R ) 3N Hiche JATRIT

D) HGSID Dot ) |ArdSii+d HEgel

RITUDT P Hifed LRV Tch /acdh e/ 3Med ?

9) 31,9, P, $ Q) 3, 4, b Bh 3) 31, & Bh 8) d, b, S Bh
With reference to India economy, consider the following :

a) Bank rate b) Open market operations

c¢) Public debt d) Public revenue

Which of the above is/are component/components of Monetary Policy?
Answer options :
1)a,b,c,d 2)a,b,c,only 3)a,bonly 4)b,c,d

THTISIdh &R Fft (MPC) ST8d Elefieftdh! Piurd) faemm sRIeR 3med /3rmed ?

37) d RBI T S9HTH IR R

) & RBI =7 TegRAg 92 AGRIT TRAT 312 M Geh dedl Tl GART bl STt

P) 2 PR SRITITAT ALIEETA DI P

R SR :

q) (31) Beh R) (3N), (@) 3fdr (B) 3) (+) Beh 8) (1) ar ()
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Which of the following statements is/are correct regarding the Monetary Policy Committee
(MPC)?

a) It decides the RBI’s benchmark interest rates.

b) Itis a 12-member body including the Governor of RBI and is reconstituted every

¢) It functions under the chairmanship of the Union Finance Minister.

Answer Options :

1) (a) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

5 Yere) a1 WURTT oRY R IR B

q) STRIAIT TSTeR BNV ATeIell 3R

R) et b 3T ATAATRID eI ot <l TRl

3) Sget dop 3ol W uiferRf ureed a1e

¥) Al g BOR U ERUT 3fdcisc 3fTg

An increase in the Bank Rate generally indicates that the ............
1) market rate of interest is likely to fall

2) Central Bank is no longer making loans to commercial banks
3) Central Bank is following an easy money policy

4) Central Bank is following a tight money policy

3) TNIRT AR DITE! d5el aid. ATal

¥) TS depichgd 31t Sdl SHI hedT ST

The lowering of Bank Rate by the Reserve Bank of India leads to
1) More liquidity in the market

2) Less liquidity in the market

3) No change in the liquidity in the market

4) Mobilization of more deposits by commercial banks

NRaR 3l Geufd, durfie IRl JEedehdl’ T I29l/Iedl Wicilolidh! PIud /3Rd ?

31) e SPbell Il IR P ADBURIT NS IPHR (TN SAUVART e o,

q) dopimliet dleprear 3aT JRIET ST a=el o,

&) ATIRT JHIT FaTSTE! ThI FHGIUITIRET G,

) i T Srfe TRe guf awuararet Reft iRt kg JauarT AT areu,

i SR :

q) (31) &MfT (3) B ) (31) M (P) Fh 3) (3), (D) N (3) ) (), (), (@), (3)
In the context of Indian economy, which of the following is/are the purpose/purposes of ‘Statutory
Reserve Requirements’?

a) To enable the Central Bank to control the amount of advances the banks can create.

b) To make the people’s deposits with banks safe and liquid.

c¢) To prevent the commercial banks from making excessive profits.
d) To force the banks to have sufficient vault cash to meet their day-to-day requirement.

HERTY ST ANRY ST gaaRie arslt - anfefe amfor amfors faem/ &4
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Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

NRART ReTeg s SicgT JuTfep TRerdl Yo MR Ul HHT xd, AT Wictiedeh! PIvrd B0} ITarRIaT
3R ?

9) YR S adiar R YIS drear

Q) et FRUTIT Tau[eeR e Qe 3iferes Higder ST] TehdTd

3) TN TERATRIG FebT AT PHolexId PUIT PR BT

8) ITIES SIfehT TuTTellclel qReTdT AIGHT YHTONT HHl 81> STehdl.

When the Reserve Bank of India reduces the Statutory Liquidity by 50 basis points, which of the
following is likely to happen?

1) India’s GDP growth rate increases drastically

2) Foreign Institutional Investors may bring more capital into our country

3) Scheduled Commercial Banks may cut their lending rates

4) It may drastically reduce the liquidity to the banking system.

‘T wefe HRaferct e’ e ‘Ae feurs anfor crsn aRIfeferdial’ 8 916e Preldesl STaRImed oAU,

......... =T Feuld daoRel STTard.
q) SfehT SR R) @RYFRpar et
3) oSt EROY g) PNl JedTeTE] GRS AT AR,

The terms ‘Marginal Standing Facility Rate’ and ‘Net Demand and Time Liabilities,” sometimes
appearing in news, are used in relation to ..........

1) banking operations 2) communication networking

3) military strategies 4) supply and demand of agricultural products.

RBI A STER dheledl ‘HIfSHeT Bk 3iTth thed s¥s aifell X (MCLR)' a1 S291/3291 BrI 31ed ?

37) g ATieee T SPigR ASEHRIA NI MIREd U] GG YRGLehdl JURUIRT Aed
2.

) & ATl dw PoIGRAT add JBIRIS! AR SRCIed] RSIGRIAR b shiscd! Sueteddl JHfead

PRUIIT Hgd PRI,

it S
9) (31) Heh R) (¥) wch
3) (31) afor (9) el 8) (1) fobar (3) SErdr At

What is/are the purpose/purposes of the ‘Marginal Cost of Funds based Lending Rate (MCLR)’

announced by RBI?

a) These guidelines help improve the transparency in the methodology followed by banks for
determining the interest rates on advances.

b) These guidelines help ensure availability of bank credit at interest rates which are fair to the
borrowers as well as the banks.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTY ST AR HaT gEuier arslt - e onfor amfores fier/ &5
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RBI 7 fRAIRAE FeMfawde URUT WDHRUITE Sdel TR Gefefueh! BHIu PRUR AT ?

31) deTfiep dReTdT YHIUT doe JMfOT ATCeHTSS -l

) HHid Rl glaur <R argan

®) §b I IOT T X HHT aNT

GTellel PIS aqRe IFg IR g

9) Wheh 37 3MUT § Q) Bh § 3) 37 30T P Heh ¥) o, § 3 &
If the RBI decides to adopt an expansionist monetary policy, which of the following would it not
do?

a) Cut and optimize the Statutory Liquidity Ratio

b) Increase the Marginal Standing Facility Rate

c) Cut the Bank Rate and Repo Rate

Select the correct answer using the code given below :
1)aandb only 2) b only 3)aand c only 4)a,bandc

HTefiedeh! PO IURIAISHHS HTAd A o RIS a1E Blgel ?

37) gl ThgR ANDIDGT ARBRI IR WG

q) AP IR SbHEd I SHT ol

&) DA Shehgd IRBRDYT ol Lol

3) et dhgR ARBRY IRAT St fsh

Tt S :

9) (31) ST () weh ) (31) MM (@) ®eh 3) (3), () MO (3) %) (3N), (@), (P), (¥)
Which of the following measures would result in an increase in the money supply in the economy?
a) Purchase of government securities from the public by the Central Bank

b) Deposit of currency in commercial banks by the public

c) Borrowing by the government from the Central Bank

d) Sale of government securities to the public by the Central Bank

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

greflel g AT faaR T
31) Jepichs AU SfY ) dpmed dooeaT St
@) depmdlie sad oot g) T

TReTIT Tl hHM T AT T $hH 3T
PNI-h-8 -3 )T -J-H -9 3) I -Ph-3N-8 )T -d - F — 3
Consider the following liquid assets:

a) Demand deposits with the banks b) Time deposits with the banks

c¢) Savings deposits with the banks d) Currency

The correct sequence of these assets in the decreasing order of liquidity is
I)b-c-d-a 2)d-a-c-b 3)b-c-a-d 4)d-b-c-a

HERTE ISTUT AR HaT qausten |t - 3nfefas anfor wrfors fdem/ gu
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q) 5 S R Q) Rer 9 2 gfeam

3) BT 3t AT ¥) eI dba TIRATT

The Chairmen of public sector banks are selected by the ........

1) Banks Board Bureau 2) Reserve Bank of India

3) Union Ministry of Finance 4) Management of concerned bank

HRATHE ATESTep &l dfchTed] YRR ASHId, @it faur feaRme =i

3T) MRA APREBZT AASIeh A JpIHE HiSae! ANTTATE HFHIUT T b AT dleel 3Tg.

q) AN S ST FaRRIT SIUITIIS!, % FCC deb 31t SiSATTed AgIRMT seprd fIafiTensor
T $iTel 3.

RIDT PIvT I sRISR 3R/ 38 ?

9) (31) eh R) (¥) *h 3) (1) 2nfor () Qe 8) (&) bt () ST T

With reference to the governance of ‘public sector banking in India, consider the following

statements :

a) Capital infusion into public sector banks by the Government of India has steadily increased in
the last decade.

b) To put the public sector banks in order, the merger of associate banks with the parent State
Bank of India has been affected.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

RATRRIET HRTIT AT foss aRwiieee (e Aelt) =1 Haimyy o JfauT/Jfaem i aresdrd ?
37) g AT T G ST AT GRET oW AT R PIevd JeM
¥) g I 9Tl et St anfor 3 prevaT He o,

gt IR :
9) (1) Hh ?) (3) ®h
3) Qal (31) By () 8) arerel (1) fehar (@) e

What is/are the facility/facilities the beneficiaries can get from the services of Business
Correspondent (Bank Saathi) in branchless areas?

a) It enables the beneficiaries to draw their subsidies and social security benefits in their villages.
b) It enables the beneficiaries in the rural areas to make deposits and withdrawals.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

.............. T BRI HdT &3 RPN PRI HRUAT ATl
9) vepTfies AT BRI Q) offs 5@ AT
3) HgrAT Wet IER AT ISR gH Y e ) IET Doy fJerT s

HERTE ISTUTT AR AT Qausten |t : 3nffe snfor arfore fasrT/ &¢



4)

4)

5)

)

6)

7)

The Service Area Approach was implemented under the purview of
1) Integrated Rural Programme

2) Lead Bank Scheme

3) Mahatma Gandhi National Rural Employment Guarantee Scheme
4) National Skill Development Mission

TR 3rferavear deuld, IR-anffe HoTaed Wieiiclidh! HIvdT FHEeT 318 ?

3) PgaTgT TEAHI Bl
¥) hfec Preferic UpaTh AT

®) =N feexd
Wlefied PIg v AT IR e
9) %eh 31 Q) 31 37IfUr § heh 3) & Bh g) o, § 3 &

In the context of the Indian economy, non-financial debt includes which of the following ?
a) Housing loans owed by households

b) Amounts outstanding on credit cards

¢) Treasury hills

Select the correct answer using the code given below :

1) aonly 2)aandb only 3) c only 4)a,bandc

ARATN AR AEPRI ST’ Feld, Wieliefded! PIurd e /= SRIeR 37Te /3T ?

37) T ERBRA] T Bered] TS HeoigR I Taeur 3ol S+ dhel ST

¥) O sfepct AR 3T IR=T A IR P AhAI.

&) T 9REE HE JURON T JfchT (T BIIer, 9]%R BT Hard SATUIT 3fTe.

i SR :

9) (31) ST (F) Fch ) (1) M () 3) (3) smfor () 8) (31), (3) amfor ()
With reference to ‘Urban Cooperative Banks’ in India, which of the following statements is/are
correct?

a) They are supervised and regulated by local boards set up by the State Governments.

b) They can issue equity shares and preference shares.

c¢) They were brought under the purview of the Banking Regulation Act, 1949 trough an Amendment
in 1966.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

GTefietidh! PIUT YR ATTATRIG el HietHd THTIE ATl ?

9) AN Q) ot 3) U 8) Plctar IR 30T 37T T
Which of the following is not included in the assets of a commercial bank in India?

1) Advances 2) Deposits

3) Investments 4) Money at call and short notice

HERTY ST AR HaT gEuier arslt - e onfor ammfores e/ €]
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D

?)

2)

3)

3)

g) SfeT STclies JeRonm

Wrefler faum foramrd &

31) Pfiea sdat v (CAR) & T 3Me STt ST e a1 fHefiean wurd IRardt anmt Sioreso
WIGRMT YaThId! TRAhE et ATal IR ST G JHAM T PIeTd.

9) URAh Hfhep g CAR SRl

RIDT PIvT I RISk 3R /3 ?

9) (31) Beh ?) () Bh 3) (1) =mfor () Qe 8) () bt () ST T

Consider the following statements:

a) Capital Adequacy Ratio (CAR) is the amount that banks have to maintain in the form of their
own funds to offset any loss that banks incur if the account-holders fail to repay dues.

b) CAR is decided by each individual bank.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

‘T 111 Tprs’ fohal theh ‘st @@RE’, S 3Feha] e UTigel S, o AU

9) SHfaes fafaerda Fae enfor emsEd IR IRASH I Ror faRid @=or

R) dfeh el amfies anIftr anifies aToT e RUATE AT IURYT AT SARETH RIERATIT GURO!
3) ERCR IR SO PHT v IR faepfiId SefaR STRT HR 1l

8) fIepRia qerieng TRIT QT THEAM EATART Ul S0 J FeARITARIDETAT aTuR TR

fFrouge! SARFNE dce] Aehdilel.

‘Basel Il Accord’ or simply ‘Basel III’, often seen in the news, seeks to

1) develop national strategies for the conservation and sustainable use of biological diversity

2) improve banking sector’s ability to deal with financial and economic stress and improve risk
management

3) reduce the greenhouse gas emissions but places a heavier burden on developed countries

4) transfer technology from developed Countries to poor countries to enable them to replace the
use of chlorofluorocarbons in refrigeration with harmless chemicals

"PIR T WG’ & e PIEIIDT ST fHa. Wietietih! DIort faem a1 dea 3w vl /

qU PR ?

37) g IhAT AR a3 I ATghiMT I I DI ITSd Tt TRIg! AT Acaddsiel Sl
PIURITE! ARITT T TN SATIRE PRUAT HEH B

¥) TUHIRUER ARG ddpiak RBI T 0T drequarr g WieT 3R,

%) g U quelicar HfshaT 3g ATGR A5t IR-BRIEH AT SRIciell §db ST dhgR dTeTd Biet!
ST,

oift SR

q) (81) Hh R) (1) Smfor () Wb 3) (31), (9) M7 () ) (3) 3N (F) Feh

The term ‘Core Banking Solutions’ is sometimes seen in the news. Which of the following

statements best describes/describe this term?

a) It is a networking of a bank’s branches which enables customers to operate their accounts

from any branch of the bank on its network regardless of where they open their accounts.
b) Itis an effort to increase RBI’s control over commercial banks through computerization.

HERTE ISTUTT AR AT qausten At - 3nffas nfor wrfores fdwmt/ wo
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4)

5)

c) Itis a detailed procedure by which a bank with huge non- performing assets is taken over by
another bank.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

GIeTieieh! PV AR Faerd X AT Teqrd qu Heft et Framrived a2

) TR AR T dheft Hefdia Sfde PregRr e TeRIIRTS! i fietel TiedTe.

Q) WP T YTgehT G, febal HaT WRGMATS! 3TTRjeh TGRS Sfc Ble IR faeiet! .

3) TR AR AT TEhihgd dhedl ST BIEGR UHC FHPRUIRITS! Sdhehg 3MepRel SR
9.

¥) Uiec 3ith At (Fe) AN 3nfr Sfic PEgR AT UEpigRr fofted Uheetl UicaTes <uIRIaTe
IRBRA G fSelel HicATE.

Which of the following best describes the term “Merchant Discount Rate” sometimes seen in

news?

1) The incentive given by a bank to a merchant for accepting payments through debit cards
pertaining to that bank.

2) The amount paid back by banks to their customers when they use debit cards for financial
transactions for purchasing goods or services.

3) The charge to a merchant by a bank for accepting payments from his customers through the
bank’s debit cards.

4) The incentive given by the Government to merchants for promoting digital payments by their
customers through Point of Sale (PoS) machine and debit cards.

3fefipsd IR et SMTOT faiig ALl FaTeR] dheledl SR —shfee PR Il BRI BT ?

9) WRe WRBRT IR I AN =Tef, WicdTeiier g el TRATE HR HHI HRUGRATSH

Q) I 3N 5T TRBRAT YT U FehediT Hed vl

3) .1 HoIRAS! ST STadid T 7RI U B PRUl. Yo PIc! fhaT 3Tt

8) .21 IUITGIRG HIeTHd STelq [RTRUT RUAT Sfe®. Yo DIt febdl T Hfeiep S halfead ot
SRURECIGS

What was the purpose of Inter-Creditor Agreement signed by Indian banks and financial institutions

recently?

1) To lessen the Government of India’s perennial burden of fiscal deficit and current account
deficit

2) To support the infrastructure projects of Central and State Governments

3) To act as independent regulator in case of applications for loans of Rs. 50 crore or more

4) To aim at faster resolution of stressed assets of Rs. 50 crore or more which are-under
consortium lending

HERTE JSTUTT AR AT qausten At : 3nffes snfor wrfore fasrT/ 19
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1)

?)

2)

3)

4) YisadroTR, [t g fAqres

AR referavaea] Henid, Wiellel faum™ foarma .

37) ‘P YR’ F APl SRR WIER AlC 3.

¥) ‘\fefthepe 3k f3uifeie’ & YRR Re1d dobr PIARIFCT SR detel SIEdlet HAIEM 3TTe.

P) ‘Plel HA T INcReD FIERIAIST TR SIUIRT Ublei= o 3MTe.

) ‘RRI-pu aivgw’ ¢ STNRIT eI SHigR BraRSFG SR dhetel ST S0 3Ted-Hgad
RRY 3T

RITDT PIU fAem™ SRR 31T/ 3T

9) Theh 37 3MOT § ) Beh § 3) 37 3701 & Heh 3) 9, & IMfr § Heh

With reference to the Indian economy, consider the following statements :

a) ‘Commercial Paper’ is a short-term unsecured promissory note.

b) ‘Certificate of Deposit’ is a long-term instrument issued by the Reserve Bank of India to a
corporation.

c¢) ‘Call Money’ is a short-term finance used for interbank transactions.

d) ‘“Zero-Coupon Bonds’ are the interest bearing short-term bonds issued by the Scheduled
Commercial Banks to corporations.

Which of the statements given above is/are correct
1) aand b only 2) d only 3)aand c only 4)b, cand d only

YR ARPR] de ITATR Glcileldeh! AT THT Tl ?

37) FTRICS W hekal Netegan gt

) IR Rereg davea et

D) HENTS SOT 3feUehloil TSTeR

it SR

q) (&) ST (3) Beh ) (&N) M () 3) (3) Sfr () 8) (1), () 37 ()
Indian Government Bond Yields are influenced by which of the following?

a) Actions of the United States Federal Reserve

b) Actions of the Reserve Bank of India

¢) Inflation and short-term interest rates

Select the correct answer using the code given below:
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TRaTeT Heid, @iefieiid! P UM /3 aRIER TR /Md ?

37) e WAGR foRepies JTauhaR Mt SR ‘oo fdesd’ JMfYT “IRA TRBR ¢ dvgd’ 7edl
AU PR 2ThdIC.

9) ‘Fmfdncs difem RiveA iR A’ &1 Rei dovar R RIEgRES of ST wichi 3.

&) "Heat feuifercdt Afedes 1.’ & ot Rereg 9o o1 sfear YT Sind ¥eieh Yot I+ Agehuul

THIC Jell 3TTe.

Tt SR :

9) (31) SMfor (@) weh ) (3F) M () 3) (3) nfor () 8) (31), () 3T ()
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With reference to India, consider the following statements:

a) Retail investors through demat account can invest in “Treasury Bills” and ‘Government of India
Debt Bonds’ in primary market.

b) The ‘Negotiated Dealing System Order Matching’ is a government securities trading platform
of the Reserve Bank of India.

c¢) The ‘Central Depository Services Ltd.” Is jointly promoted by the Reserve Bank of India and
the Bombay Stock Exchange.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

GTefietieh! DIt femm SRR 3ied /3med ?
37) AR ReTed deb R AR RIFGRCIST SR SATMOT HaT BRel IR PIUATRT 15T ARDRAT

gt .

¥) =R fool YR IRBRGR STRY hefl AT 3T 0T IRBRIGR DIVl SR el ITRY dhefl S
AR,

®) IR e SR TSI Faerdar SIRY el ST,

Tt S :

9) (31) wh R) (an) omdr (3) Bk 3) (31), (&) M () ¥) () MO (D) Heh

Which of the following statements is/are correct?

a) The Reserve Bank of India manages and services Government of India Securities but not any
State Government Securities.

b) Treasury bills are issued by the Government of India and there are no treasury bills issued by
the State Governments.

c) Treasury bills offer are issued at.a discount from the par value.

Answer Options :

1) (a) only 2)(a) and (b) only 3)(a), (b) and (¢) 4) (b) and (c) only

TR fRTeiedT ‘EhIH hR IeHee IeaaRT 3MTth wXs 3T (S4A)" T e Wietlefidhl o

U™ IT9 UPR Ui PR ?

9) IRBRA TIR Pheledl f[ABRT AT GITER0NT TardT faR HRuamt 8 Uh Ufshar oTe.

R) W1 JFSTITET AFFT PRUMIT HIGAT PIARS FLATAT 3AMfep TR G PRUIRTS! & RBI =t
QST 3R

3) B Pod AT A IUHHEET ARPRE! FHTAUD TS 3.

8) AP 3fciiered AN heiedl ‘foara@RT T fGareaRt Hfedl’ AL & U Agardl dRag 3.

Which of the following statements best describes the term ‘Scheme for Sustainable Structuring

of Stressed Assets (S4A)’, recently seen in the news?

1) It is a procedure for considering ecological costs of developmental schemes formulated by
the Government.

2) It is a scheme of RBI for reworking the financial structure of big corporate entities facing
genuine difficulties.

3) Itis a disinvestment plan of the Government regarding Central Public Sector Undertakings.

4) Itis an important provision in ‘“The Insolvency and Bankruptcy Code’ recently implemented by
the Government.
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6)

9)

7)

YRATcleT BHTT SRR dhegeel X2 AT ST HEw B 3TTR ?

37) ¥ ST THeAT Pl QIR Mg T HUTdT Fearel S TS 2 g Had al.

q) 9 ST HHAT Pol QUIR 3N AT ISR SIRGH I JeIHTI PRI Had Dl

P) ot YT HHAT TST dregRet T W Tt SR 3/ieT fodeht fordt ot Jar Rt emdr

3R arse IR,
Wlefled PIg v AT IR e
9) Wheh 37 3MUT § Q) Bh § 3) 37 30T P Heh ¥) o, § 3 &

What is the importance of the term “Interest Coverage Ratio” of a firm in India?

a) It helps in understanding the present risk of a firm that a bank is going to give a loan to.

b) It helps in evaluating the emerging risk of a firm that a bank is going to give a loan to.

c) The higher a borrowing firm’s level of Interest Coverage Ratio, the worse is its ability to
service its debt.

Select the correct answer using the code given below:

I)aandb only 2) b only 3)aand c only 4)a,bandc

RGTeHcTUeh! PO faem sRIeR 31med
1) YRAd, hise AT it a1 Rereg 9 31T Sfeagr R dear S,
) ICRA =T URig 3rfetel ST ot g dfeeter foifiics dut 3R,
%) fiead T & TR wfe T ot e,
IR 9T
9) (31) STfdr () weh - R) () M () Heh  3) (31) &M () Beh  8) (3), () M ()
Which of the statements given below are correct?
a) In India, credit rating agencies are regulated by Reserve Bank of India.
b) The rating agency popularly known as ICRA 1s a public limited company.
c¢) Brickwork Ratings is an Indian credit rating agency.
Which of the statements given above are correct?

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)
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4)

)

1)

Q)

2)

q¥) HRRI ST, IR gfae sifor Jar &=

YR I - ST 9 HIS ITNT, ATISIeh SUshd

THCHUHE -6, YT, ienfie Wg fAd (FereR), Seioradl faer a JormR fHfid
3itenfiies €ROT - WRdTcier sifenfiies 4iRoT, FERIET sifenfiies ¥iRor, Wonit-ATdsiAed STite yRiiert
URITYS G 3o w1 ST e —aTgqs® ,Soil, UIUiYRasT I ABARIRY, TRUERUT |, ST,
FRIRETERT WISHIERUT - I g JMfids armye Jfaeier A amfor are

q) YRR SERT — ST 9 IS eI, ATeST-eh SUshd

TRA ARPR el Ufeetar Aaex Uexuge™ (CPSEs) Aed auett sfthdt o1 frjdad arme ?
37) FRldauEHIqT MTelell Feqel THEI dTal ol thevdIS! JTuRudrEl FRGRAT HIH¥ 3TE.
9) IPR Ye (CPSEs) 9 e =01 Fd.ds 39, 3fed gl

it S
9) (37) Heh R) (¥) wh
3) (31) afor (9) el 8) (1) fobar (3) SgrEr At

Why is the Government of India disinvesting its equity in the Central Public Sector Enterprises

(CPSEs) ?

a) The Government intends to use the revenue earned from the disinvestment mainly to pay back
the external debt.

b) The Government no longer intends to retain the management control of the CPSEs.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Wrefler faum foammd &

31) ugiferm SMfYT =¥fifes arg Famie Hew (PNGRB) & AR APRA FAUT dhetel! fgell Famd
T 3.

9) PNGRB T U& $RI 312, 10! Suiard qeiRys gHfead ol

&) desitemRaTe foiifoeg ordie faegd ey =RITRIARURAR ST,

eI Dol U™ SRR MMed ?

q) (31) 3Mfr (3) B Q) (1) AT () 3) (@) nfor () 8) (31), (3) 3mfor ()

Consider the following statements:

a) Petroleum and Natural Gas Regulatory Board (PNGRB) is the first regulatory body set up by
the Government of India.

b) One of the tasks of PNGRB is to, ensure competitive markets for gas.

c) Appeals against the decisions of PNGRB go before the Appellate Tribunals for Electricity.

Which of the statements given above are correct?
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

HERTE ISTUTT AR HaT quster At - 3nfefas snfor wrfores fawrt/ vy
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GTefledhl DT ST WRATT I0IrET AdTfRIh aroR el ?

q) TN Q) PAIG 3T IS 3) PIUS ¥) e UieR
Which one among the following industries is the maximum consumer of water in India?
1) Engineering 2) Paper and pulp 3) Textiles 4) Thermal power

ORI AT STaTeRdr g UG PIEIdw] SIRIHE HEHId UTfgel Sl

) IIT 2T TR Froll Scure fIBpRad ot

Q) MY MM Reeft @, TV WRa <07

3) Il 3F IATEH IR qamed fafa awor

) TRt Serfirer XU 3TUeAT ST T HHRT TATTT RO IR <07

The term ‘Domestic Content Requirement’ is sometimes seen in the news with reference to
1) Developing solar power production in our country

2) Granting licences to foreign T.V. channels in our country

3) Exporting our food products to other countries

4) Permitting foreign educational institutions to set up their campuses in our country

2) THUHUHS - W&, SESNI, Siienfis wig e, Sesiadl fde ISR

)

1)

Q)

2)

TUTHAT GG o S 3T ...

q) oY ISP STATND 3T Faed SuTor

Q) R A= fARE fnrar et dof Iuctedt o 0T

3) g AT FRIYUR BT G=er o1

¥) P [T nfor oI Ml Mcaed o= Feri”idt FweriEr feft <o

Pradhan Mantri MUDRA Yojana is aimed at ........

1) bringing the small entrepreneurs into formal financial system

2) providing loans to poor farmers for cultivating particular crops

3) providing pensions to old and destitute persons

4) funding the voluntary organizations involved in the promotion of skill development and
employment generation

GTeflel SieaMeYd A gt

T TN SHIUE gRest

3) gYeit ATel S IECEIS

) GOl HReThH - HERIY

P) IWS] THGH! TSI — Prled HasT

it S :

q) (1) wh ?) (@) Snfor () 3) (31) 3for () 8) (31), (&) smfor ()
Select the correct one from the following pairs:
Craft Heritage of Region

a) Puthukkuli shawls —Tamil Nadu

b) Sujni embroidery —Maharashtra

c) Uppada Jamdani saris ~ — Karnataka Select the
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Answer Options :
1) (a) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

'S I ST whY' = Feuld, @reflatdt PIud faum sRieR 31me/3rmed ?
37) ITET el ST St /S AT AfATTE IJeASTehcian T Ul g1 37g

9) g SIDBI Adhd gAfad gRad.

Tt SR

9) (31) Bh Q) (d) &h

3) (1) afr () arr 8) (&) fobarr (3) SFrEl et

With reference to ‘stand up India scheme’, which of the following statement is/are correct?
a) Its purpose is to promote entrepreneurship among SC/ST and women

b) It provides for refinance through SIDBI.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

YRATT Wil BRI da (SFBs) ST FRUgTaT I29T P 3N ?

37) BICAT ARG TCHHT UAYRGST Bl

) TEF ST 3T JURD ATPIT BOgRadT POl

P) TOU IEUSTHAET fIAYT: T YATTT TIART SHRUIRITS! TAT R o,

Tt S :

9) (31) wh R) (an) omor (3) Bk 3) (31), () M () ¥) (@) AT (D) Heh
What is the purpose of setting up of Small Finance Banks (SFBs) in India?

a) To supply credit to small business units

b) To supply credit to small and marginal farmers

c¢) To encourage young entrepreneurs to set up business particularly in rural areas.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

3) sienfies eRvr, iEnfies S Adere, Eril-AdsRe YRRt

TRATT PRIRT 3Feied faeefl AT S—apiad hu=aieaT Heuld, Wieilelddh! Pivrd e sRIsR 31/
e ?

37) O T wichid ATche—%eRT 70T IR PRUATICINGh eT Fd:T 9] e erehTd.
¥) AT WichHR HAicaT fashidl ATeidh! Buarieyid amer Jafer aied.

R SR :

q) (31) Bh Q) (d) &h

3) (3r) 3nfor (9) = 8) (31) fobar (9) S g

With reference to foreign-owned e-commerce firms operating in India, which of the following

statements is/are correct?
a) They can sell their own goods in addition to offering their platforms as market-places.
b) The degree to which they can own big sellers on their platforms is limited.
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3)

3)

8)
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Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

YRATcHeT TM0T T GaRATared] Fewfd, @reflel faem f=Rid & .

37) STt Fafeld PRIETTAR Al g ‘T07 Wil 3.

q) 5T ARBRMAT 0T G WIOIE HoR RUFTT MUDBR 3T, U T @istrea srgamelt Fefed
R TIR FRUIR STUPR g ADRDS 3Ted.

P) AT ARPBRAT 101 iAo 314y G-+ IRGUITATS! M JIR aRuar JifIpR 31ed.

RIS PO UM RISR 312/ 318 ?

9) (31) 3mfor (@) w6 2) (31), () M (&) 3) (F) Fh 8) (31) 3Mfor () ek

With reference to the management of minor minerals in India, consider the following statements:

a) Sand is a ‘minor mineral’ according to the prevailing law in the country.

b) State Governments have the power to grant mining leases of minor minerals, but the powers

regarding the formation of rules related to the grant of minor minerals lie with the Central

Government.

c) State Governments have the power to frame rules to prevent illegal mining of minor minerals.

Which of the statements given above is / are correct?
1) (a) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (b) only

RO, 'FRAIRT ITIED SIEEER! € @leflerdeh! PIIMe Heward I Feu AR dhet el ?
q) ST—-JEIPRT HERT (FawATIT AT FIATe0it) F1IH, 93¢

R) FAAIhRU chetel Wlffed (JedTed STTor aroR) M, %%

3) S—hTRI (FERUTI ST Brefresvit) o, 2099

8) 3T &M 301 Jeh 79, 099

In India, ‘extended producer responsibility” was introduced as an important feature in which of
the following?

1) The Bio-medical Waste (Management and Handling) Rules, 1998

2) The Recycled plastic (Manufacturing and Usage) Rules, 1999

3) The e-Waste (Management and Handling) Rules, 2011

4) The Food Safety and Standard Regulations, 2011

YRAT, HTenfies ScTeaTer Tgur e, Sis YR SelTiean Meerid Thid ao 39-0% 3R
T 31TS TG ST WleAleTich! HIURT ST 37 ?

37) fRrfe 9) @ o) i arg
3) R Sare 3) PIUS
g SR :

9) 31, §, P, ST )31, T, SAMFHD 3)d, P30S Beh ) 9, 30T § Fch

In India, in the overall Index of Industrial Production, the Indices of Eight Core Industries have a
combined weight of 37-90%. Which of the following are among those Eight Core Industries?
a) Cement b) Fertilizers c¢) Natural gas

d) Refinery products  e) Textiles

Answer options :

1)a,b,c,dande 2)a,b,d and e only 3)b,cand d only 4)b,d and e only
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6)

7)

8)

R)

37TS WG e feeientd Wiehiertdh! HurTeT Fafd ST aei el S ?

q) DI I R) &S ffeeht

3) @a M 8) dleli IATeH

In the Index of Eight Core Industries, which one of the following is given the highest weight?
1) Coal Production 2) Electricity generation

3) Fertilizer Production 4) Steel Production

T Th a I $ea’ Aed HRAR o weficnelt STl . Wiefietih! BiumgR g e
I et ST ?

q) s SAgehr 3Mfr farT FeeT (OECD) ) des ShHiFIMHD hiRT

3) SIIfd g ¥) SIATf IR FeedT (WTO)

India’s ranking in the ‘Ease of Doing Business Index’ is sometimes seen in the news.

Which of the following has declared that ranking?

1) Organization for Economic Cooperation and Development (OECD)

2) World Economic Forum

3) World Bank

4) World Trade Organization (WTO)

TeIedeh! IV STRTfTD SohedT "S97 3fh g g 8o a1 Su—fMcenas =Teh?

q) PRIST T G IRV R) IR WU

3) AT Aol @y ) SIXhH R FITes0!

Which one of the following is not a sub-index of the World Bank’s ‘Ease of Doing Business
Index’?

1) Maintenance of law and order 2) Paying taxes

3) Registering property 4) Dealing with construction permits

"PIferc] PifAeT 3iTth sfear (QCI)’ < Jewid, Wiellel faum faeRd &

37T) QCI < TATIT YRA VPR M ARAT I I FIhIol hedl Bett.

) QCI =1 3reerl Fgeh! GaHUTigR IRPRef I RhRefaR dbefl S

RieTdeh! DIV UM TRISR 318/ 3Med ?

q) (1) wh ?) (@) B 3) (31) emfor (@) = ) (37) fobar () et A

With reference to ‘Quality Council of India (QCI)’, consider the following statements:

a) QCI was set up jointly by the Government of India and the Indian Industry.

b) Chairman of QCl is appointed by the Prime Minister on the recommendations of the industry
to the Government.

Which of the above statements is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

grefid faum foaRra &

37) SCHICE TRR N SHEAST YR A &R (BIS) o A6 g o1 ard a1e.

9) AGMARK g 3/ 37for gt Fger (FAO) R STRY dhelel UrEdT U0 g 31T

Riceh! PO I SRR 3MR /37T ?

q) (31) &b R) (d) Beh 3) () oy (9) A ) () febar (9) SN AR
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3)

3)

Consider the following statements :

a) The Standard Mark of Bureau of Indian Standards (BIS) is mandatory for automotive tyres and
tubes.

b) AGMARK is a quality Certification Mark issued by the Food and Agriculture Organisation
(FAO).

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

) SERTHTSI faxig WERd 9 9RYT, HEMs®, Sela Y- YRl

T [Aaues T R gfaur (el = Seuid, @ielietueh! PIvd U sRIsR 31/ 31ed 2

31) & it NI U 37eRd TR,

g) gId B. YT ¥,00,000 Gl

Tt SR

q) (31) &h Q) (9) weh 3) (31) 31for (9) Qe 8) (&) feberr (9) Qi el

With reference to ‘National Investment and Infrastructure Fund’, which of the following statements
is/are correct?

a) Itis an organ of NITI Aayog. b) It has a corpus of Rs. 4, 00,000 crore at present.
Answer Options :
1) (a) only 2) (b) only 3) Both(a) and (b) 4) Neither (a) nor (b)

T SN fha1 Ui Sheiedr Eatear Heuld, @iellelie! i UM aRIsR 3118/ 3med ?

37) e AT SIHATT DHRUT ISl Hisdel! ad.

q) ot IIYRIST & Higdell @d AM SIdl, TR 3fehc! oot & Heddl @d Al S,

IR SR :

q) (31) weh ) (F) Weh - 3) () ;O (F) IR %) (3N) fobar () S A

With reference to the expenditure made by an organization or a company, which of the following

statements is/are correct?

a) Acquiring new technology is capital expenditure.

b) Debt financing is considered capital expenditure, while equity financing is considered revenue
expenditure.

Select the correct answer using the code given below :

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR SRfTaeeraT AeHfd, '3iud A JMRA’ U ...

9) RBI BgT ASYcS dhiang doi Bl Q) WURY Sehihg SN SN ATIRRIAST &t Q01
3) @G GR WRERY IR W 3nfor fhr 8) aRIeTUh! PIEE! el

In the context of Indian Economy, ‘Open Market Operations’ refers to ............

1) borrowing by scheduled banks from the RBI

2) lending by commercial banks to industry and trade

3) purchase and sale of government securities by the RBI

4) None of the above
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)

1)

ITH HISdel U B ?

9) ST el SR 3Pl Hisdd.

Q) TdH SENIHIAT SedhTel| T —31T Jisdel USH dhet ST,

3) SENIHT Jaitear det fete feft,

8) SN JRATTS! ST Jae=omard! et aRag.
What does venture capital mean?

1) A short-term capital provided to industries.

2) Allong-term start-up capital provided to new entrepreneurs.
3) Funds provided to industries at times of incurring losses.

4) Funds provided for replacement and renovation of industries.

GIehieieh! Prur qRFRRI ‘Jigdael! THI 81 bl ?

31) Siegl ST faghid aTe g

§) SIegT HIeThIAT Ao JodTd i a1 g

%) Siegl Tl TS UFCT &t Rl SifoT forell eAleplSRId aTecde aredl HedTd a6 il

i SR :

1) (3) FhH R)-(a1) sfor () 3) (3) smfor () 8) (31), (3) 3T ()
Under which of the following circumstances may ‘capital gains’ arise?

a) When there is an increase in the sales of a product

b) When there is a natural increase in the value of the property owned

¢) When you purchase a painting and there is a growth in its value due to increase in its popularity

Answer Options :
1) (b) only 2)(a)and (c) 3) (b) and (c) 4)(a), (b) and (¢)

Y) Ry gfa sfor ST e fawrT

ATESH, il UTUNYRAST T ARV, TBUERBUT, FEIIT.
FIRIRETERT WIS - I g e TRy gfawien s o are

s Rguaet ool Seeeiade ot feifiice (IREDA) =1 |eHid, Wiefierih! Piurd faem aRieR
3T / AR ?

) g ufeetp forfics TRBRY HuT 3.

) & U A-dfh foxir Byt 3.

gt IR :
9) (31) Heh ) (§) b
3) (31) amfor (9) gl 8) (1) fbar (3) SErEr ATt

With reference to the Indian Renewable Energy Development Agency Limited (IREDA), which
of the following statements is/are correct?

a) It is a Public Limited Government Company.

b) Itis a Non — Banking Financial Company.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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TR $9PRCadR Seevehc §a (AIIB) =T Heuid, Wreflel faum foaRma &

31) AIIB T ¢o Y&l SR ISR T} TR

¥) YRd & AIIB qefic Faid AT YIRS 37Te.

%) AIIB T& 3R STedler Hevy AT,

R DIV [TUM SRR 3R /3 ?

q) () 3nfor () v Q) (1), () 37T (d) 3) (31) Bh 8) (1) 3or ()

With reference to Asian Infrastructure Investment Bank (AIIB), consider the following statements
a) AIIB has more than 80 member nations.

b) India is the largest shareholder in AIIB.

c¢) AIIB does not have any members from outside Asia.
Which of the statements given above is / are correct?

1) (b) and (c) only 2) (a), (b) and (¢) 3) (a) only 4) (a) and (c)

STRTRCIES TR GfaeT & 8Te ...

q) STTRrITCeT UrATe JfaUme) RO RIS ASEAN YETeR AT SARRITS bR sehen haiigR
[ESRRCEI

R) SR dabd gD S WIS &3 ST FEATHD [TAUDHGR HiSAcTd! SHATSHd H&H PRUTRATCH
Stfeet qrRmd gfaem AEst e —arsrit 9RSRT (PPPs) TOR &0l ST FREHT TR H_UI FoTH .

3) OECD S19d S RO STTchel JH sehmelier HgdiT ST Wiett [Aau]eh Yepfd hrudra &
SRACIedT YR Gl Fehedied] Tl foRIR hRUTTAR 18l higd e,

8) UNCT-D SIS SUsh ST ST UrITet Gfaered faeprarrd! fomgRasT Mot ers s=udran uae
.

The Global Infrastructure Facility is a/an......

1) ASEAN initiative to upgrade infrastructure in Asia and financed by credit from the Asian
Development Bank.

2) World Bank collaboration that facilitates the preparation and structuring of complex
infrastructure Public-Private Partnerships (PPPs) to enable mobilization of private sector and
institutional investor capital.

3) Collaboration among the major banks of the world working with the OECD and focused on
expanding the set of infrastructure projects that have the potential to mobilize private investment.

4) UNCTAD funded initiative that seeks to finance and facilitate infrastructure development in
the world.

HERTE ISTUTT AR AT qausten |t : 3nffes snfor wrfore et/ ¢
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Q)

2)

9y) Tt Snfor o AT - HEBR &=

Hit Aot eranelt wafera srefagasan

q) it e ameft wEfla sreferawen

NSSO =1 o T HRIAR it BRIl el TRRRICHT e Haal, Wietldl fuTraT R T

37) ISR AT Peamed Pl PeardT Aaifie ceh del 3.

9) QaTclicT TpuT Pt Pesiien! o TR 3t ol N ST,

P) PRIAL, §o CHRITET HTeIeh PuT Pedi-il Hul paTeheraiefciReh FoR Bldihg ST SR Il
fieaedTe icdel 3Te.

RITIDT PO AU SRISR 312/ 3T ?

9) (31) Teh R) () 3T (9) ®h  3) (37), (%) 37T () ) (F) MO (&) Fch

As per the NSSO 70th Round “Situation Assessment Survey of Agriculture Household”, consider

the following statements:

a) Rajasthan has the highest percentage share of agricultural household among its rural household.

b) Out of the total agricultural household in the country, a little over 60 percent belong to OBCs.

c) In Kerala, alittle over 60 percent of agricultural household reported to have received maximum
income from sources other than agricultural activities.

Which of the statements given above is/are correct?
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (a) and (c) only

TRATd Afed AT Feqid Wictlealdd! D! fIarm sRIsR 3med /3Med ?

31) IR ife Iared BrRishA’ (NPOP) el ATHIUT et HATGRITAT AFiGe e ReaifR ST FSenigaR
EISESIRSIS]A

) ‘it 3T Ufeha hetel 3= STe (T fddhRT wrferssor’ (APEDA), NPOP =1 SHEESIIUiRITS!

NIECIPICEEIUEC G

%) Rieh g YRATNS Afgel QUUUT e 9T 9] 3712

Tt S :

9) (31) 3T (3) B Q) (1) AT () 3) () snfor () 8) (31), (3) anfor ()

Which of the statements given below is/are correct with references to organic farming in India ?

a) The National Programme for Organic Production’ (NPOP) is operated under the guidelines
and directions of the Union ministry of Rural Development.

b) ‘The Agricultural and Processed Food Products Export Development Authority’ (APEDA),
functions the Secretariat for the implementation of NPOP.

¢) Sikkim has become India’s first fully organic State.

HERTE ISTUTT AR HaT qausten |t - 3nfefas anfor wrfores faem/ ¢3
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Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

Grefledhl P fhammay refaawdiel arafdd &5 s9adrd ?
31) R e fih o emed

q) PIue RUAT P HYF Heiaaed HUIIR P

%) ART DI Bl QUIRT TSI dp

g) WRegd ) feftrcs §Ts STRY PRUIRT BiaRe vl

it S
9) (31) 3T (&) eh R) (@), () =fr (8) Heh
3) (31), (P) 3fvr () Heh 8) (31), (3), (P) 3fvr ()

Which of the following activities constitute real sector in the economy?
a) Farmers harvesting their crops

b) Textile mills converting raw cotton into fabrics

¢) A commercial bank lending money to a trading company

d) A corporate body issuing Rupee Denominated Bonds overseas

Select the correct answer using the code given below :

1) (a) and (b) only 2) (b), (c) and (d) only
3) (a), (c) and (d) only 4) (a),(b), (c) and (d)

"G et fomT Ao i Wieiicidd PIvr faem aRIsR 3fR/31med ?

31) T IS, AdD=AT auidied DIUATal I T ANGS dheledl PITal fUpRITS! g9 ces
U SR WRET Rl

) & IS TEhiarees AT SHahles) TR Sgdeled] BIUUHIRT FhI DHeg PR

Tt S :

9) (31) weh ?) (@) B 3) (3n) ST () QF=Y 8) (37) fobert (1) Qe T

Which of the following statement is/are correct with reference to ‘Pradhan Mantri Fasal Bima

Yojana’?

a) Under this scheme, farmers will have to pay a uniform premium of two percent for any crop
they cultivate in any season of the year.

b) This scheme covers post-harvest losses arising out of cyclones and unseasonal rains.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

2) TN ITEH, STEHAT

qRAM 3Teha] Td ST I 37 HENIST 3IHd Udal g, Tl B PRI 3R, AT ?

31) AT fiepTeaT AraSichs el daedTes, 3=UT FNdSRaTel el &1 el Urd aufd AR 30%
7 AAI™ g STl 3TR.

q) ATeT SeHATaT YR U, SAlbredt SUHN UG aAeviia aet STell 3.

%) 3 YRASI ARISTE FRAHS AT 3Tl
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gt SR :

q) (1) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()

India has experienced persistent and high food inflation in the recent past. What could be the

reasons ?

a) Due to a gradual switchover to the cultivation of commercial crops, the area under the cultivation
of food grains has steadily decreased in the last five years by about 30%

b) As aconsequence of increasing incomes, the consumption patterns of the people have undergone
a significant change.

¢) The food supply chain has structural constraints.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

grefid faum foaRm w1

37) Hd ORI, HSUF I el — e qreiid, WRATdel DIvTal I /hgeid ueend fo
MRy fa (MSP) dt @t smaffed o

) JUIITR SN FHSUTATT TTacic, PIUIATE! I/ HSIARIT TS IIRHTT Befie! areurR ATt arem
IdeslaR deg M et S,

RITDT PO AU sRISR 3772 /3T ?

9) theh 3 ) Beh & 3) 3737 § el ) 3f fobar § TR

Consider the following statements

a) In the case of all cereals, pulses and oil-seeds, the procurement at Minimum Support Price
(MSP) is unlimited in any State/UT of India.

b) In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which the
market price will never rise.

Which of the statements given above is/are correct?

1) aonly 2) b only 3)Bothaandb 4) Neither anorb

HRATNA IRAIh Qe Heid, Wieflel U™ R =i

) JT, IS WAt Rl fhad 8 SToIRTEeR ImenRd 3R ST WRBRER UenRyd ATat.
) s, S gRaTer ge 38, Fafie TR TR 2.

) BRPHIRG RIS TS HET ATl 3Reiel FehR @ ol IVl PREFIE IU-IdeT 37TR.
Riceh! PO I SRR 3Me /37T ?

9) %eh 31 Q) § 370 P heh 3) 9 %Beh ¥) o, § 3 &

With reference to chemical fertilizers in India, consider the following statements :

a) At present, the retail price of chemical fertilizers is market-driven and not administered by the
Government.

b) Ammonia, which is an input of urea, is produced from natural gas.

¢) Sulphur, which is a raw material for phosphoric acid fertilizer is by-product of oil refineries.

Which of the statements given above is/are correct?

1) aonly 2)band c only 3) b only 4)a,bundc

HERTE ISTUTT AR HaT qauster At - 3nfefas snfor wrfores faermt/ ¢y
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1)

dicR shsc’ <1 T, Wiellerdehl PIurd U /v SRR 31Tg /MR 2

31) o groft SMfoT FeesdT 8T P PRUTRITST ARIPIBRIATT SUAsH dd.

q) g SIIfieh SIRFI FECSHT SM0T STRTIes daped] AgcaRaTel! & STelell U ST SUshH 3.

%) SFIGHIAR Jacie 7 ST RIS AT T YToTT TR YOT SRUI e Il g T Se¥ 37TR.

gt SR :

9) (an) smfor () o ) (31) 3T () 3) (3) smfor () 8) (31), (3) 3T ()

With reference to ‘“Water Credit’, consider the following statements:

a) It puts microfinance tools to work in the water and sanitation sector.

b) It is a global initiative launched under the aegis of the World Health Organization and the
World Bank.

c¢) It aims to enable the poor people to meet their water needs without depending on subsidies.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

HRAT, Wlefierthl PIvK e A TIaueh Fell SIS A& ?
37) a fuepiean et SATGARIS! fFAM SMURYd fhid f3ad ol
) I Pt UaHRRITd FHTORhERT

F) FMEIND Yiead fabrT

) AqDHTET HITd dISTgRaaT

3) SfPT HUElIGR Pt ol HToh

) ARPRIGR AT Gfaur SHRU

GTeflel Plg I IR IR Haer:

9) Wheh 3T, § 3MIfUr ) Hh 31, P, S 3IMMT g
3) 9, & M1 B Fch €)1, d, ®, S, 33N &

In India, which of the following can be considered as public investment in agriculture?

a) Fixing Minimum Support Price for agriculture produce of all crops

b) Computerization of Primary Agriculture Credit Societies

c¢) Social Capital development

d) Free electricity supply of farmers

e) Waiver of agriculture loans by the banking system

f) Setting up of cold storage facilities by the governments

Select the correct answer using the code given below:

1)a,bandeonly 2)a,c,dand e only 3) b, c and f only 4)a,b,c,d,eandf

3) Pt &Te fad gRaat

HRATT, QlefieTdhl DO B ST T FhThatTa=T ol fIaRund Haifties arer 3img ?

9) TR BT Q) TEPRI St 3) URfIp OO T ¥) HRIP IR Tl
In India, which of the following have the highest share in the disbursement of credit to agriculture
and allied activities ?

1) Commercial Banks 2) Cooperative Banks

3) Regional Rural Banks 4) Microfinance Institutions

HERTE ISTUTT AR AT qausten |t : 3nffe snfor wrfore faerT/ ¢k
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2)

CICICRERIERCEINCR=2IE

31) P AT APl Bol fARUTAT qeciia, el Aead! Ageprt 91 (DCCBs) S

9) DCCB d |aid 9g@rd HR e, WAfies ool qaawi=n Fedt e,

RITUDT PIUr U™ aRIeR 3Med/3Med ?

9) Theh 3 ) Beh § 3) 37 3Ifr § S 3) 3 fhar § =18

Consider the following statements :

a) In terms of short-term credit delivery to the agriculture sector, District Central Cooperative
Banks (DCCBs) deliver more credit in comparison to Scheduled Commercial Banks and
Regional Rural Banks

b) One of the most important functions of DCCBs is to . provide funds to the Primary Agricultural
Credit Societies.

Which of the statements given above is/are correct ?
1) aonly 2) b only 3)Bothaandb 4) Neither anorb

) T ufesar SernT

q) 3MY TQA R) ORI 3) HERTY 8) IR U
Recently, India’s first ‘National Investment and Manufacturing Zone’ was proposed to be set up in
1) Andhra Pradesh 2) Gujarat 3) Maharashtra 4) Uttar Pradesh

RA ARBR PIUAT S T G Ulh ' I Hheawien el o MR 2

31) 3T UfhaT SENTRATS! diTeaT Urmd GfauT Sueree de Qo

q) e aR<IT HishaT aTeau SMOT YRR HHT v,

&) IEISTHI ISR AT TITERVIR It 371 HfshdT THS UG PRI,

gt SR :

q) (1) SMfor (3) Hch ) (1) AT () 3) (@) smfor () 8) (31), (3) amfor ()
With what purpose is the Government of India promoting the concept of “Mega Food Parks”?
a) To provide good infrastructure facilities for the food processing industry.

b) To increase the processing of perishable items and reduce wastage.

c¢) To provide emerging and eco-friendly food processing technologies to entrepreneurs.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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8)

4)

“)

4) Tt IR, FoRYaT, fHet, fuvs

qRAT, FSf STeHT SRS e frameRaTett el STt

q) SiieHTaTTe Y PRSI, 1]4Y

R) ST N etell P Icu=l ISR AT BRIGT

3) P I (TaRt T fergierT) rfef=ae, 9%30

) TS Ulsacd e}, %Y 3T Hie MM G Uiseed 3R, 963
In India, markets in agricultural products are regulated under the
1) Essential Commodities Act, 1955

2) Agricultural Produce Market Committee Act enacted by States

3) Agricultural Produce (Grading and Marking) Act, 1937
4) Food Products Order, 1956 and Meat and Food Products Order, 1973

HRAM JIRIER UTei PRI ajd HMifofd Fabd (FGuft SfoT FR&M0T) BrIaT, 9]%% N el
DILO 2) IMF 3) UNCTAD 4) WTO
India enacted The Geographical Indications of Goods (Registration and Protection) Act, 1999 in

order to comply with the obligations
DHILO 2) IMF 3) UNCTAD 4)WTO

GIeliedeh! PIOAT AT Jrelell arerIied ‘3R dia, o dias T i i’ § areg et et
3NGeseTd ?

9) WTO =1 gemIe Q) AH geMIE

3) UNFCCC gsme! %) FTA &R 9Ra-EU arcrand

In the context of which of the following do you sometimes find the terms ‘amber box, blue box

and green box’ in the news?
1) WTO affairs 2) SAARC affairs
3) UNFCCC affairs 4) India-EU negotiations on FTA

‘FHfieRict TRR’, ‘SfiHE 31 § Sifterder 3ifth ekt 8f hRICRIFCS! Herd’ 3TifT Uiy Ferrer T ardt
Glefier e FEHTd SITRIHe) qRAR A

9) 3F=T 0T Pt FwAT ?) I deAeaRlel W JIE! HHad aRyG

3) SIIfis &UR FEeHT ) AYch XY YITERUT DRI

The terms ‘Agreement on Agriculture’, ‘Agreement on the Application of Sanitary and Phytosanitary
Measures’ and Peace Clause’ appear in the news frequently in the context of the affairs of the:
1) Food and Agriculture Organization

2) United Nations Framework Conference on Climate Change

3) World Trade Organization

4) United Nations Environment Programme

R Pl FOIR’ AT AT BRI /RIS BRI AT/ 3TTed 2
37) g P ATARATS! HYOT HRATHS Selaiep ofel dice 3T,
9) g ATHIT e AT Toreaielt AT SRIeIe [ RIg qerend} aToTRUSd T8l UG ahvd.
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9) (31) Heh R) (31) mfr (3) e 3) (31), () 30 () ¥) (F) 30T (B) Heh

What is/are the advantage/advantages of implementing the ‘National Agriculture Market’ scheme?
a) Itis a pan-India electronic trading portal for agricultural commodities.

b) It provides the farmers access to nationwide market, with prices commensurate with the quality
of their produce.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
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i 3nfor wHTfSIR fdar

(9) are 3nfor fawrT, FaeE  (3) IR HehedHr, HioH
— 9nead fAshRT, THSISH, 3for 3ferst, TR e

TqSISi Gl
q) d1e 3for fasa, emead fas q) TR HehedsT 9 BRI
173 378 RIS ety ¢ ?) T AR TEaTs g aRes AsTi®
?) THEsh, vadsh i
3) <IReRYT, SIRSIRI HISHEY g 3T

- - 3-8 ¥- 4= &9

s - faeerT 3nfor Yerenfies
2 ot il e e

-8 -3 3I-3 ¥-¥

(8) MR A HrigH,
(3)3nff FarRUm, T I NP
q) YR 3rferaser, NG Seusl
q) IPRI UBR T T

-9 -9 3-8 8¥-¥ 4-3

Q) ﬂ ﬁf 9-¥ -3 3I-9
- ?) IR fAfeh PRl

-9 - 3R

3) WISTERT, SERIRU g "
TIEEEE 3) DI fAPRT  JeNSThe

-9

-3 - 3- 8-3
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(4) Rffy IR TR Aedd  (¢) NIRRT Ish, ATDET

AAHTI TR ¢IRUT
q) HERTHTALTRA Hehed=T q) ANHEET B
-3 -3 319 9-3
?) fxfta @ ?) SPEET HROT
-3 -%¥ 9-3
3) UTIT=IhY & HEoT1chrUT — 3) ANRIARUT T WRIATTR
TR, AYSASID, T T
9-8¥ =¥ 3-? Y- Y4Y-¥ &-3 V-9
(1) foramur, IR, AMIfoIh

(£) Af2e, Jot, S AMIRS TReN Sre I
el RigHicitel BRISHH )

q) foramur ST SUshH
q) HfEeAT AT g IIAfdPRT 9-8 - 3-8 8-3 4-9  §-3
9-9 -3 3-3 =Y 3
?) N8 AR, e, HIR iz ) SIRFY ERActer SYhH
WYl BrRisH -2
9-9 3) AMTIS FRET SATI SUHH
9-¥ =¥ 3-8 8-3 4=
(19) APERN TRHTHD O
UITHe dfdrses] (90) HERTE — RO, IRUM,
q) m STIUTH] ﬁzi‘;ru'r' SUT
2 _ : q9) HEAME - oy, fAdere, et
1-% 9-3 -9 3-3 ¥-3 Y-3 §-3 ©-R

¢—R

HERTY ST AR HaT gauier arslt - 3ffe onfor amfores fdara/ ]9



?) HERTS - R, TR

-8 -9 3- ¥-9 4-¥ §&-3 V-3
¢-9

3) "grTs - A, Sur

=¥ = 3-9 ¥-3 4-3

q99) WS fa snfor fasfa
TRIT — IR, Joic, R aRor

q) fa=fitT eRoT — fART STRINT, HRUOTTet,
HRGURUT AT

-2 -9 3I-¥ ¥-3 Y-9 §&-¥ U-%
¢—%

3) 3IRAPA — UhR, HHEER ARG,
TR 37RI¥eheT, AT Ee
-2 -9 3- ¥-%

3) AT GHRIT, IO Je, Jerd
R, e 9 Rereg It SUpH
9-? -9
¥) YRARNS e T TS ATGAD
BUT — T 30T YR

-8 -3

4) SRGT IO AGTIRI&I0T

93) fash =R amfor
RIS HISaA TBAD
q) faeeft AUR - Heheom, FAERAIS,

IURIAY g fAeeht T+ wer
9-9 =¥ 3-¥ ¥- Y-
¢-3 R-3

?) SR AR HHeHT — SRl
YR fTaRdeiss aRumy
-9 -
3) YR SRR AR f2er,
AMHRIM g AT
9-9 = 3= ¥-3 Y- &—%

¥) INARTEN AR €Rvr, fHafa
ar1e, Trefre anfie Wadrt Haen

-3 -9 3-R ¥-3 Y4-9 &-3

Y) IR TAIU[D — INARRISIT ATIR

&= -

el WisaaTen Siayarg, I941 9 a6

9-3 -9 3-R 8- Y-3 &-8 -3
i~

&) TEATCRRIER Hisdes YRIAUIAT HAT

— JIUHUS, STATfcIe db, shelc XSl

-8 =¥ 3-3 ¥- 4-3 &R

HERTE ISTUTT AR AT Qausten |t : 3nffe snfor wrfore fasrT/ ]2



q3) <fdT - ehfze snfor gifved
gifersdt
q) geecil 9 - ReIE 96

-8 - 3I-¥ ¥-3 Y- §&-3 V-9
- -9  9o-R 99-R 9-3 93-19

Q) Hifdss ¥R g yafAdzm= e -
el YRl

-9 R} 3-3 8-k Y- -3 V-
g) SfeT ST YUROM
-9 - 3-9 ¥-3 4-%
Y) HiSTASISIR, Wl g famnas

-3 R-¥ 3-9 ¥-¥ 4-% &9 -

9¥) YR SERT, TRIT
gfaem anfor 3am &
q) YR ST — TS g WS ST,
ArdSIH® SUhd

-8 -3 3-8 ¥-9

3) THURIGHS - &, BYSET,
3irenfie g faerT, Seisiwa
fapr 7 ISR
-9 -9 3I-3 ¥-R
3) SiENfie URvr, SiEnfie S
Rstin , WoTit-AESD
K ILICHK]

9-3 2-9 3-3 ¥-3 4-3 &3 -9
¢-3 3-9

¥) SIS AR 9ErRa g 4R,

-8 -9 3-R ¥-¥ 4-9
Y) grITd gfar 3o T S
fae™

-3 =3 3R

q4) T 3Mfor Jror fadhRT -
HEPR &
q) it e ameft wEfea sreferawen

-8 -3 3-9 ¥-R
R) PNt SeUTEH, SeUTGehdl
-3 =¥ 3= 8- Y4-3
3) Pt aTen fad gRaar
-9 -
v) it ifgsar Ser
-9 -9

4) P IR, FoRYST, fFwet, fauvs

-2 -8 3-9 ¥-3 4-3

HERTY ST ANRY AT gaaRien arslt - anfefe sfor arfors faert/ {3



